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 PART - I (9T - 1)
MENTAL ABILITY TEST

Time : 2 Hours

1. In the question below select a 1. 39 Reqy @ ﬂﬁ'q S uSHArES f%rg,\:[

the (?) of figure (x) would complete

figure from amongst the four ? 3% ®wFm W W W
alternatives, which when placed in HﬁW{I—ﬂT/FITﬂ ) ﬂ:\f T |

the pattern. _
Identify the figure that completes

the pattern.
? _
g“g‘% 5;%5 S

221 1 R e e

(1 (2) (3) (4)

2. Which  option  replaces  the 2. A9 Ru T el § § Pe-ar e
question mark (?) in the figure ueT Fred (?) @ wr g e ?

given below ?
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3. The following questions are based
on letter series in which some
letters are missing. The missing
letters are given in a proper
‘sequence as one of the alternatives
among the given four alternatives
under the question -

b.-.f‘ihh_cj—_l_:ib_qa—_b-b.cgabb—-——ab
(1) acaa (2) acha

,4(6')/ cabe . (4) cacc

4. At what. time between 7 and 8
O'clock will the hands of a clock b-ge

in the same straight line but, not

9 :
. togethe_r ? o ’
. /(l)/ﬁmin. Past 7 @
g -2 i
(2) ‘5= min. Past 7 b o
3) 5% min. Past 7 = S &min
- |
(4) 5 min Past 7 g0 g

5. How many quadrilaterals are

there in the given figure ?

10

(3) 12

(2) 11
4) 13
NTSE(Levél—l) Exam. Nov, - 2018
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3. W@%mﬁﬁﬂmﬂﬂé%wﬁ
wh iEd #H A 21 g oney @
d ga 81 R e famedl § @ o
F U Wl g eifew Red Red
[SETNC T (i | e
b-C-abbe-8-bhca-&-peabp——ab
(1) acaa (2) acba
(3) cabe (4) cace

4,738 3 3 d B T
b gl wE e @ d A we
T G P S ALl ? : '

(1) 7 SR 5 e |
(2) 7 SR 5= FFE )

(3) 7 T 5> B ©@

—
—

|

(4) 7 FTHT 5 ﬁﬁztﬁ

'y
—

5. & S S ¥ g R g ¥ 7

(1) 10 @) 11

(3) 12 (4) 13



(5) ' C

6. Select a figure from the given four | 6. U T =X fowedt & § Hi-41 9 el
alternatives, which placed in ueTdTEE [Eg & I qv el ?
the (?)
Problem Figures : - THET 1Bl -
Jani s o
e ? N
\\\u\ : & ’
Answer Figures : : il @W’?f .
= awllaplioyp! : j E7 TP T y
Zl|w| || | ACA|4|4]
%E (% ki (M@ UET -
7. It B5D means B is the father of D, 7. 4R BSD & &1 B, D% far
BYD means B is the sister of D. BOD Fr & B, D & g 3|
B4D means B is the brother of D. B4D % 314 B, D & 1% ¥ |
B3D means B is the wife of D.  B3D & & B, D # ueit B
Which of the following means F is fepear orf ® % F, K &t orar & ?
the mother of K ? ; _
| ~ LI _ '
rTamsg £ — M ' (1) F3M5K

(3) FOMAN3K (3) FIM4N3K"

(2) F5M3K \‘ Pt ¢ (2) F5M3K
il

(4) F3M5N3K (4) F3M5N3K
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8. Statement: Some keys are
staplers.  Some staplers are
stickers. All the stickers are pens.

Conclusions :

I.  Some pens are Stap]ers.“ég

=
II. Some stickers are keys. \/

ITI. No sticker is key. DL

Y

IV. Some staplers are keys. \,/

| (1) Only (I) and (IT)
(2) Only (IT) and (IV)
(3) Only (II) and (III)

(IT) or (III)

< In the question given below, find
out the alternative ‘which will

replace the question mark ?

1.33 13° ::.236.; ?j -2
(1 28 ﬁ)5\

@ 352 \D
N

(8) 25°

\1’

@ 8 Only (@) and. (IV) and sither

“-:;qaf\ Q
P \/j)/ w2,

”r\ ifu\ /fg }Sa—f

8. &

o A, ReR ¥ g
Qur, fedt ¥ wf R, O ¥

freee

L %8 T, v ¥

1. %8 fear, afve ¥

IT1. I3 o ey, gt 78 ¥
IV. 78 R = 8|

(1) &aa (I) 9 (II)
(2) Baad (II) g AV)
(3) whed (II).ET (IT1)

(4) a4 Q) 9 (V) 741 (1) AT (1)
g9 %3 o

9. Ry T Raedl § § fmar R

neTdrEE faeT & @M v s ?

123 : 132 - : 28517
(1) 232
(2) 3_{32
(3). 253

(4) 25%

NTSE(Level-1) E§ ov. —\ZOV



Direction : (Q. No. 10 to 13)

There are eight persons namely A, B, C,
D, E, F, G and H lives on ecight different
floors from one to eight. Ground floor is
number 1 and top floor is number eight
but persons do not necessarily live in the
same order, Only three persons live
below the floor on which E lives. Two
persons live between the floor on which
E and H live. More than one person live
between the floor on which E and A
lives. C lives immediately above G. C
lives on odd numbered floor. Only one
person lives between B and F. B lives
one of the above floor on which F lives. D
lives on even numbered floor but not on
2nd floor.

10. Who lives on floor number eight ?

e

(1) B

A

2) C
4) D

FandA? -
(1) One (2) Three
3) Five “# Two

12. Who lives immediate below G ?
(1) B el
3) A

4 E

NTSE(Level-1) Exam. Nov. — 2018
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@9 : (o Ho 10 ¥ 13)
GIIEEEIﬁﬁAB C, D, E,FGaenH

WWWW@WWWW%I

§_=J*
3
£
3
3=
i

. e TEL & HRT 9 B @ ¥ 7
(1) B

10
2) C

3) A (4) D

'l/i;

5
rwm%mﬁﬁmmﬁﬁ’

s

€1y =

@
(4) a

(1) s
(3) U™

12,

(1) B (2) H

3y A ) E

A5

"1 P




C (8)
13. Who lives on third flooy 13 Tl bRt g1 4 @ § ?
T W
(2 F 2 F
3) E (3) E
@ D’ 4) D

14, lz?r'50aasa%w@mﬁﬁm%=ﬁ
#@ﬁ%‘a‘rﬁwl%%wﬁaéﬁ%,
WWE@T‘?%fNﬁE}j}\

14. How many numbers from 1 to 50
are there each of which is not only
exactly divisible by 4 but alse

contain 4 as a digit in jt ? 4 ol w L
. : ‘_ \43, :
1) 5 ,(2)4/ e s @4 - 3Sf z*
; . W
(3) 7 " (4) 8 U\C\ (3) 7 “4) 8
&\9

15. Group the given 9 figyupeg i 415. d 7 9 GWEEf?Rﬁ &I T grq‘r b
AR W @ Tt ¥ Rew g
s Rear 1w oy U
SERT BT UF & it F Ay

three classes using each figure

iny once - | 9;2
<$
£

’;>'0<:D

7 i 8 9

1) 1,8,9 2,5, 6; 4,7 8
@) 1,8,9:2 7, 8 4,5, 6
(31,24 3,57 68 9
@ 1,3,6; 2,4 8; 5, 7,9

& 1,392 5,6 4,7, 8 ‘
@) 1,8,9,2'7,8 45,6
@) 1,24, 3,57 68 9
4) 1,3,6; 2,4,8 57,9

NTSE(Level-1) Exam, Nov, - 2018
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16. Choose a figure which would most 16. DICAR TI’% G-IFEF\‘T % &Y (Z) &l G|
closely resemble the unfolded form s @ R o faemedt d @ -t
of Figure (Z).

17. If Z = 52 and ACT = 48 then BAT 17. 3% Z = 52 aur ACT = 48 @ BAT
will be equal to - 'E{ \g A B -
M |
(1) 39 "D *?i? %P—_\}‘;, (1) 39
. . |
@ 1 o @ 41
() 44 o P . (3) 44

U

/ggﬁﬁ * 3"%{? (4) 46

18. Arrange the following words as_;_,.,ﬂ 18. fr=fafgg gt @ gy 3 Ry T

per order in the dictionary - F B SER fefE -
(1) Tortoise (2) Torrid (3) Torso (1) Tortoise (2) Torrid (3) Torso
(4) Torque (5) Tortuous (4) Torque (5) Tortuous
Options : T o% fa®eq -
474,2,3,1,5 A (1) 4,2,8,1,5
(2) 3,2,4,1,5 o( 2) 8,2,4,1,56
(3) 2’ 3’ 4’ 5’ 1 d\— (3) 2) 3) 4? 51 1
4 4,3,2,1,5 . 4) 4,3,2,1,5

NTSE(Level-1) Exam. Nov. - 2018 2.7
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. Select a figure from the given four 19. 38 fdeoed I ﬁiil‘l S usHarEs e
alternatives, which placed in the (?) % ' W W@ W R /
(?) which complete the pattern - AT &l QT & M -

e G

Problem Figures:

ole |
o7

Answer Figures : Gﬁ?‘ ol -
P e Ai’%@_ P
O‘{)_ @ ) »m @ & @

20.&:&%%@&7%%@%@@1
gﬁqﬁrﬁamﬁﬁ@iﬁ%a-

(%)

920. Pick the odd one out among the

following options -

(1) Quiet — Calm (1) 9 - A

(2) Seldom — Never ©) B Hq - w4 B
DA .

(3) Peace — Tranquil /ﬁj\"ﬁ - 9|
P *

(4) Rapid — Slow (4) dig - 4
t

NTSE(Level-1) Exam. Nov. - 2018




21. Choose the picture that would go
in the empty box so that the two
bottom pictures are related in the
same way as the top two are

related -

Bo

(1) (2) 3
- Direction : (Q. No. 22 & 23)

In a quiz competition out of 880
participants, 224 choose Mathematics
240 choose Science and 336 choose
Sports, 64 choose both Sports and
Science, 80 choose Mathematics and
Sports, 40 choose Mathematics and
Science and 24 choose all the three
subjects.

mim| 2
=

/)51)/

22. The percentage of participants

who did not choose any subject is :

(1) 23.59

MEB

(3) 37.46
(4) 27.27

NTSE(Level-1) Exam, Nov. — 2018

C

21. Ru 7o et § & o9 o @1 sy
R gl d & e @ 9 3 a9t
el d 92l we @ e S| B e
& A Rl F 2 - |

&7

iy ?
DDy (| =

(2) (3) (4)

[@9r : (S0 Ho 22 ud 23)
TH geell gioAfer # 880 wfmnh F @

224 F TR fvm g, 240 ¥ RAEE qer
336 7 G AT, 64 I REH qur A AN
fasa, 80 3 T ar @a@a’f&m,m%
Mo qr fase AN fwa g g 24 3
.l AN Rt @ g

22. [ ofder gfedift 3 @ 4@ fwg
T g P

(1) 23.59
(2) 30.25
(3) 37.46
4) 27.27

P.T.O.




C (12)

93. Of those participating, the 93, fhoR e ufedfEl F @dad OF
percentage who choose only one for g ¢
subject 1s :
(1) 60 1) 60

Y More than 60 ' (2) 60 & fi

(3) Less than 60 (3) 60 & FH
(4) More than 75 (4) 75 q AHUD

94. A clock is set right at 5 A.M. The 94, wh g H GHY GIE 5 o0 Tel
clock loses 16 minutes in 24 hours. HEIN ?Iﬁm* gl 24 goo 1§ 16 e i
What will be the exact time when A o A, @ oF oY s @
the clock indicates 10 P.M. on 7 2, o/ g9 9T 9 R 10 P.M.
fourth day ? 9 & ?
1) 11PM. @ 12PM. - 1) 11PM. (@) 12PM.
(3) 1P.M. (4) 2 P.M. (3) 1 P.M. (4) 2 P.M.

" 95. Count the number of cubes in 95. & T o H gRl T Eogl
following figure - ‘ g7

(1) 68 (1) 68
/()/ 69 @) 69
(3) 70 (3) 70
@) 11 (4) 71

NTSE(Level-1) Exam. Nov. - 2018




26. By using your

217.

numerical and
logical reasoning skills please try
to find out which number is
missing in the question below. The
numbers around will give you the

clues you need to solve the puzzle -

Choose the alternative which is
closely resembles the mirror image

of the given combination.
QUALITY Y T | \AVU

(1) ONVFILA A

@ YTILAUQ Cx_

Qg)/YTIJAUD

(4) YTIJANO d\

NTSE(Level-1) Exam. Nov. — 2018
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26.

217.

C

A HEAHE 9 i blee @
IYAIT #d gU gaT @y f R g
YT F I e g ¥ 7wl @
B B fw g0 e & ®
geeti @ g fia s -

M 9
@) 4
3) 5
@) 6

ﬁﬂwﬁzﬁrﬁ‘iﬁ@rwﬁmqﬁ
Bifet st R QUALITY @ adoy
BIRICLS Il

(1) ONVTILA
(2) YTILAUQ
(3) YTIJAUDO

(4) YTIIANO




——

28.

29.

Arrange the words given below in

a meaningful sequence.
1. Probation

2. Ihterview

3. Selection

4. Appointment

5. Aldverti sement

6. Application

55,6824,

@) 5,6,4,2 3,1
3) 5,6,2, 3, 4,1

@ 6,5,4,2 3,1

In the question below, two words
are given. These words are related
to each other in some way. You are
required to find out the
relationship between the first 2
words and choose the word from
the given alternative, which bears
the same relationship to the third
word.

Malaria : Disease : : Spear : ?
(1) Wound
(2) Sword
Weapon
(4) War

NTSE(Level-1) Exam. Nov. — 2018
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28.

99 Ru g @ w9 8 dfterd
FHIfeTT |

1. gRdlen (72 STRrg ol i)
2. W

4, gl -

5. fasma

/«D/ﬁ,e, 3,2, 41

29.

(2) 5,6,4,2,8/]1 ™
(3) 56,2841 A
@) 6,5,4,2, 3,1 K

Ru o gew F & e e T E
sue § FRdl WeR ARy gl aldl
gl ® q= b dey F @d gl Ru
M e § A SH U= @ 8l
Rrerepr Jra g @ a8 TR 8l |
H@ﬁ?ﬂ:ﬁﬁizw?

(1) =4

(2) dTE

(3) BRER

4) &




30. Below you are served with four

31.

o{u)C%B$F$E

jﬁf%@B%F%E

different type of Venn diagrams

that indicate a definite

relationship  between  Tennis,

"Rugby and Soccer. You need to

find out the diagram which is the

most relevant -

If M%N means M is the son o_f N.
M@N means M 1s !;he sister of N.
M$N means M is the father of N.

Than which of the following shows
the
granddaughter of E ?

relation

(2) B$F$E % CON /4, IS
C »—
Es

4 E%B$FSC

NTSE(Level-1) Exam. Nov. - 2018
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| S ev)

on

(15)

Cc

30. 9 ¥R - a9 o fRu T

31.

g o o, Wt oY geaw & Hew
H TERiT gxa g1 & q @9 aF
o SRd dey @ yElkid war ® 7

g M%N & 3 M,N & 3 2|
M@N & Fg M,N & 9 2|
M$N & 31 M,N %7 firer 2 |

a frefifea & @ S99 TEy @
g’ CE & aet § 7

1) C%BSFSE
@ BSFS$E%C
@) C@B%F%E

4 E%BSF§C




32. Figure below represents a balance,

which symb(ﬂ replaces (?) -

QO [ - /\
1\ /\OQOOQ
0000 /\ 7 [l

33. TFind the number of triangles in

the below figure ?

NTSE(Level-1) Exam. Nov. - 2018
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32, AF & o ¥ wh g TR W B,

33.

gl frgT & WM W HE-A e
(cfiep) @ T Wbl & 7

ONN /\ A\
1A AOOOOO
OO0 " 2 []

& ot ¥ BEt @ den B
37

(1) 20

(@) 22

(3) 16

(4) 28
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34. Choose the correct option which

would complete the figﬁre (x)

35. Choose the alternative which
closely resembles the water-image
of the given combination.

DISC

D126
(1) CSID (2) Oald
3) DIeC (4) DISC

36. Select a figure from the given four
alternatives, which placed in
the (?)

Problem Figures :

(x)
Answer Fig%s 3

£

NTSE(Level-1) Exam. Nov. — 2018

E&\m @ ¢ @ Aﬁ

34.

35.

36.

fRu o fospedl # @ @1 fame
HIIT (x) I G BT AW 7

?

' (x)
(1). (2) (3) (4)

DISC @ 9l # &ar ufafar &=
R faeeedi § @ @ fampeq sife |

(1) CSID 2 Delda
(3) DI2C (4) DISC

A9 Ru o feedt & @ @
ST uears fred & wE W
et ?

THET ST -

(x)
I APl -

(1) (2) (3) (4)
P.T. O




37. Select a suitable figure from the

four alternatives that would

complete the figure matrix -

N
N B

ST
=~

1
ra

L~
Q.,:/
=
S

38. Ten years ago, the age of mother
was three times the age of her son.
After ten years, mother's age will
be twice that of his son. Find the

ratio of their present ages -
G 32T
(3) 7:4
(4) 7:3

NTSE(Level-1) Exam. Nov. - 2018
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37. feu 7o IR fomedl & SO e @l
g S A el A g
a7 -

N B E F L 2
NI /I 1T A 9
NN A
TR HLERE Y EN
[ 27 v | R | L2k
(1) (2) (3) (4)

38. a6 ¥ Yed Al &l Y U gF
g @ dF A A g Ay geEd
oA DR o e B I R 2 A 2
QT BT ST | AT bl adHe ey H
FIT IR & 7

(0. sl

@) 9:5

3) 7:4

4y T3
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39. The given figure (x) has dots that 39. 4
fulfil same conditions. Find out a G
figure from the alternatives where I8
if dots are placed they will fulfil a

the same conditions -

(x)
5y
L (
D%
| @ (2)
| .
_ 40. In a school 80 students have 40. U% faowm d
[ registered for a singles cafrom Teped
tournament,. _ Each match G
eliminates one player. How many ST
matches are to be organised to e
determine the champion ?
(1) 40 go O (1) 40
(2) 41 /IC\ @ (2) 41
48779 . @3) 79

-
® 8o sy) (“f}’ Qe

NTSE(Level-1) Exam. Nov. — 2018 ‘/\ -




41,

42,

A monkey climbs 10 metres at the
beginning of each hour and rest for
a while when he slips back 5
metres before he again starts
climbing in the beginning next
hour. If he starts climbing at 8 a. m.
at what time will he first touch the
flag at 50 metres from the ground ?

(1) 4 p.m.

(2) 5p.m.

Which of the

diagrams

following Venn

indicates the best

relation between Travellers, Train

and Bus ?

OOO

@ CUD

#09

(2)

NTSE(Level-1) Exam. Nov. - 2018
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42.

u dEX gdd G B g8 F 10 WX
R e
HLAl © | &
mm@maﬁsw%
ST B 1 ik g8 8 & WKl TGl IS
& A 50 BIeX FA sl H fraR a9
@yl HT @M 7

(1) 4p.m

(2) 5p.m.

(B)Gp.m.l

(4) 7 p.m.

AF-A1 I9 ARG FE, WS T ]
& ey P yard Sl g

(1) @O

OOO

@ D

(2)
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43. Six sides of a cube are coloured in

43. UF 51 4 6 U i foE erar O

the following manner : fg M &
Blue rang 4 . el
=}
White fRed Black E apg [ hlel CE

Blue and Orange are opposite and
Red is on the top which colour will

be at the bottom ?

A i qer G foda yei g g
T A SR & JS W a, a 99
& U UT HIA-a1 7 8 ?

(1) Black (1) e
(2) White (2) d%5
(3) Orange (3) dell

{gﬁ‘euow (4) e

44. The numbers have been arranged

under gome rule. Based on that
rule, which number will come in

place of the question mark ?

T

44,

demt e fram & ey v R
T 8| 3 Fem F enar W gsTET
et 3 @\ w #9d@ de
T ?

4,5, 8,17, 44,7 4, 5,817, 44, 7
1) 102 4 (1) 102
3 o
/&ﬁm i 12~y (2) 104
N3) 125 qi\; ;g%’; (3) 125
e S B @
(4) 110 oy 4) 110

Ay

NTSE(Level-1) Exam. Nov, - 2018 -
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45. Direction : In the following 45, Fgaer - 4R Ru g AR feked H q
question insert the missing SR faeeT ® g R LU LU
number in place of question mark ¥ g REd & @ W ST b |

from the given alternatives.

5 48

(4) 80 | (4) 80

46. If 'x' stands for 'addition', '< 46. Ii& 'x' Y aead Hte’, < q SIRE]

stands for 'subtraction', '+ stands ‘ger’, '+ q g ‘enr, > g
for 'division', '>' stands for P = q e ‘auE] ', q
‘multiplication’ '-' stands for 'equal qed > o = q arad ‘<’ El a
to', '+' stands for 'greater than' and ESIRKIER T -l e ?

'—' gtands for ‘lgss than', state
which of the following is true !

ll -
M2<4r+1ﬁ>2+45f’4 3 (1)3x2<4+16>2+4
e ek
@) 5>2+2=10<4x8 / @) 5>2+2=10<4x8
(3)3x4>2-—9+3{3 \ ‘ {‘E (3)3x4>2*9+3<3
(4) 5x3<T+8+4x1 (4) 5x3<T+8+4x1

NTSE(Level-1) Exam. Nov. - 2018
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47. Select a suitable figure from the

four alternatives that would

complete the figure matrix.

2
O
-

) 130 Dc

(3) (4)

48. What number will come next in
the given series ?

( oy
36, 34, 30, 28, 24, ?

20 e
(3) 23 (4) 26
49. Scema started early in the

morning on the road towards the
Sun. After some time she turned
to her left. Again after-some time
she turned to her right. After
moving some distance she again
turned to her right and began to
At this in  what
direction was she moving ?

move. time,

(1) South A North-West

./(3)/North—East (4) East

Y

NTSE(Level-1) Exam. Nov. - 2018 —
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47, ﬁqnf{wﬁWﬁwmﬁwl

BT ST gl Az B g wv
Bl

c—= | ?

= |

o

(1)

-

(2)

Y
(3)

“)

48. & T Yo ¥ oFl den 4 anf ?

36, 34, 30, 28, 24, ?

(1) 20 @) 22
3) 23 (4) 26

49. M1 gue-guoe gd @ ol ugd W
T U B & FB THA qLEr
& ST 9% X g RN T g® guy
WA q8 HUH &R AR g8 o B
P W T FA & WEE g G
AU wE AR gT S B oaur =
g Y Sl B1 3@ WM 98 f
Rem & a7 ww 3@ & 7
(1) aferor (2) IT-ufdEn
@) sw-yd @) o

BT, 0.




50. Which of the following is the

mirror image of the figure (%)

given ?

L

Direction : (Q. No. 51 & 52)

Which one of the answer figure would
occupy the next position in the problem
figure, if the change continue in same
order. '

51. Question Figures:

Cl=e
A=

(1

y/ @ @

NTSE(Level-1) Exam. Nov. - 2018
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u

50. & T ey (v @ fre A A wel
7o ufifers - B

_—H
(%)
(1)

A

® = 5

4) @ |

frder ¢ (Wo Ho 51.0d 52)
aﬁu&maﬁ%ﬁmﬁzﬁqﬁaﬁﬁrw@

B i 7o B B 2 L L
ey et ?
51. §97 SIgld -
AEEIE
aﬁvan?ga% ;
\;3«\ }(z IE @\
(1 (2) (3) (4)



52,

53.

54.

Question Figures :

o =) = =]
Co & e | O
Answer Figures :

[ O O
e | | —

n e e

Which number replaces the
question mark ?

] 1
5 6 8 4 ]'2
8 ?
(1) 9 1
(3) 12 (4) 13

There are two statements given
below as premises, which support
the conclusion suggested in the
answer options. You may select
the conclusion that makes the
whole argument valid.

Statements :

[. No film actors are cricketers.
II. Some cricketers are poets.
There fore :

(1) Some poets are film actor:s.\tL“

(25) C

52. §97 AT

e | T —=
(1) (2) 3) (4)
53. U fgd & WM W - He

At ?
2 1
7 4 3 2
9 6

5 1

5 6 8 4
6 ?
1) 9 @) 11
(3) 12 (4) 13

54. 19 gfteeaHet & wg H A $UH Ry

g, S S fawedt #

P g g s g1 Y g8
Frepd g9 a@hd § A @y @ @
7
/BT

1. 91 fhe e Bhbet 7t B

11, %8 et Ha ¢ |
(1) %B *f o afr €1

Some poets are not film actors., -1 (2) %B Bl fheH afear T 2 |

(3) All poets are film actors.
(4) All film actors are poets. £

NTSE(Level-1) Exam. Nov. - 2018
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55. On what dates of April, 2001 did 05. Gﬁﬁ, 2001 H fH-fepq fafert &
Wednesday fall ? e o7 ?
lst 8“1 a ]Sl 81‘h
(1) | 15th P."nd A (1) | 15th 22nd
r%‘o B : 3rd 101.h ‘ " 3I'Ll lolh
R @) | 17th oqun D\ (2) | 17t 94th
T

‘ ond gth i ond gt
OW -t g -
@/ lﬁgﬁt(i@i-’ﬂ‘d v (3) | 16th 28
30th ~ | 30th
4m ﬁz\ th th
47 11
4 4
) 18th 25th ) 18th 25th
56. The reflex angle between the 56. 10:25 W g} #H ﬂé?ﬁ G ged i
hands of a clock at 10:25is . (reflex angle) W‘GT-‘?T % B 8§ 7
(1) 180° (1) 180°
I° 1
s 2) 1991
(2) 192 2 (2) 192 5

Mv ’\"&-D6 (3) 195°
12 1¥:
4) 1975 wk— (4) ‘1975
2 ‘2)5
i
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57. Choose the pair that best 57. 39 s @ By Prad gd CIENR
represents a similar relationship g% & STy e o -
to the expressed in the original '
pair or words - _ - g - i
MONK : DEVOTION :
(1) qrme ¢ Qrifdae
(1) Maniac : Pacifism .
(2) @il Y .
(2) Explorer : Contentment
(3) Visionary : Complacency s ( }i
(4) Rover : Wanderlust (4) g, : WBT A0 S
58. In a family of eight people, lawyer 58. U%H URAN @ oMe qew d 9 gai
is married to a teacher and has F foae wh i d gen e
three sons, one engineer, one S I g %,_‘ e @ wh R,
doctor and one actor. The actor's - u% SfgeT qur i i &1 AR
wife is a dancer and aunt of Emily. ) P Ul UF S & 9 uell @ A
Emily, the daughter of engineer 2| oftell, S R gelifEe @ g’aﬁ )
learns martial arts with her S C B L B e T
brother Joseph. How is doctor diegdl ¥ S & % & Ay
related to Joseph ? : M ey B 7
(1) Son (2) Brother "?'h (1) 9 (2) I
=
(3) Nephew ncle (3) ST (4) <rEn
M d e QC;;Y]
59. Which number replace the 59, ue R B WA W B g
, question mark in the figure giver\ daMGF{TQfIT ? |
\:}\ ':\\% below ? ' é '
o' | 3 GNQ g | il 3 GNQ 8
¥ =ik Man
3 RBS 9 3 RBS 9_
e 9.0 4 TUA 2 4 TUA 2
‘ 2 FPC 5 2 FPC 5
3 OLH ? 3 OLH ?
P 1y s 1 @ s~ 65106 1) 3 @ 5
(3) 8 ak won TAb 3) 8 (4) 9

NTSE(Level-1) Exam. Nov. — 2018 ' P.T. O.




60. If 'mso ptr kli chn' stands for

'sharma a get marriage gift'( ' tr‘

M&@ stands for ‘wife

gives marriage gifty "tti wo l‘lhl

——

stands for 'he gives nothmg what

would means 'gives' ?
. '--_

(1) chn

(2) nhi

(3) ptr

M

61.

A dice with six faces is marked with
six numbers 1, 2, 3, 4 5 and 6
respectively. This dice is rolled
three times and three positions are

shown as -

SESpNg

1 the number opposite to 1 -

NTSE(Level

. ]
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60. IR mso ptr kli chn' @ arqd ‘gt
A feEre SRR g R,
wop chm' § T ‘Usft ¥ faw @

61.

'‘ptr Inm

SR AU, 'tti wop nhi' @ drqd
THT g8 T RAr &, @ Fegw
arqd [ R 7

(1) chn

(2) nhi

(3) ptr

(4) wop

wmﬁ%sﬂﬁs’fwﬁw1 2, 3,

596 fordl B 2w o d
m%wm?ﬁq I 29
Y & -

[

1% Rl S gen anf ?
()2
@) 6
®3) 5

(4) 4



62.

In the question below is given two
or more statements followed by
two conclusions numbered I and
II. You have to take the given
statements to be true even if they
seem to be at variance from
commonly known facts. Read all
the conclusion and then decide
which of the given conclusions
logically follows from the given
statements disregarding commonz
known facts -

Statements :

No giraffe is a leopard.
All leopards are kangaroosV\)
All kangaroos are Wolfé.
Conclusions :

(I) All kangaroos can nevér be

giraffes.

(I1) All
wolfs.

giraffes are definitely

Give Answer
(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) If either conclusion or

conclusion II follows.

f both conclusion I and II
follows.

NTSE(Level-1) Exam, Nov. - 2018
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C

62. frfafad yga d & a1 aAft g

3 uygEE @ s 19 I Ru w2
g o dedl @ e A1 W@ o

U R T W o difd

frrepet 1 fFeifa Y -
JHTT -

g ofr e dgan Tl ¥

it dg, FTe 2|
et &, AT 2|
fresy

@ w4 FmE B A PR Tl
e | | '

/
an @ Brrs Fled w9 @ Ay 2
g g
(1) g% frspy daa 1 & |

(@) TR R daa 11 @l

@) o Frepd 1 orgar 11 & $2 @
|

(4) af% Fred 1 g 11 g1 & |

P. %O,




63. Direction : Study the following

information and answer the
question given below it.

There is a group of five persons
K, G, H, R and J.

(1) K, G and H are intelligent.
(1)) K, R and J are hard-working.

(i) R, H and J are honest.
(iv) K, G and J are ambitious.
e

Which of the following person is

neither hard-working nor
ambitious"?
(1) K (2) G

H 4) R

Direction : (Q. No. 64 & 65)

Choose the correct alternative that will

continue the same pattern and replace

the question mark in the given series :

64. 0,2, 3,5,8, 10, 15, 1'2},24, 26, ?

65.

(1) 28 _A%) 30

(3) 32 (4) 35

2,25, 13, 28, ?
(1) 49 5 50

(3) 51 (4) 52

NTSE(Level-1) Exam. Nov. — 2018
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63. fder : Frefifag @ € s @)
@M § 1@ §T I 3|

e @R K, G, H, R a91 J % us
98 B

) K, G au H ghemr &

(i) K, R @91 J uftepft ¥

()R, H 71 J gqMeEr ¥

(v) K, G a1 J weammie ¥ |
Frt & @ B9 a@fe a1 @ oieed 3
T T & Herhie ?

1) K 2) G

@) H 4) R

7391 : (5o Ho 64 ud 65)

& T e § e BT @ wE
. B wen ol aifF sfEer @ Yot g
w© ?

64. 0,2 3,5, 8, 10, 15, 17, 24, 26, ?
(1) 28 (2) 30
(3) 32 (4) 35

66. 2,2, 5, 13, 28, ?
(1) 49 (2) 50

(3) 51 (4) 52

!



66. Find out from amongst the four
alternatives as to how the pattern
would
transparent sheet is folded at the
dotted line. -

appear when the

67. If the position of the first and the
s_ixth letters of the word
'UNIFORMITY' are interchan_geld,
similarly the position of ond with
7th letter 3rd with 8th letter, 4th
with 9th and 5th with 10th letter
are interchanged. Which letter
will be 4th from the right end after

arrangement ?
M I T
M 4) N

NTSE(Level-1) Exam. Nov. - 2018
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66. af qrEsl HS (x) W fargRR W
e @ df Ru e e § |
fpg foped & SR Re ?

67. I oS g 'UNIFORMITY' %
qeel gof @ B A9 @, TER 9Ed
Rar smar ¥ geR gER @
grad aof @, SR ol B amed aof @
g Y qur dEe gof F AR Tl
7ad aof @ ded Rar omar 21 Al g9
(e oFd § aERed 9 @ &% W

T Aer aof @& a7
D I 2) U
@) M 4) N




C

Direction : (Q. No. 68 & 69)

In the following questions which number

will replaces question mark ?

3 6 2
o 5(12 45 18 125 2 12
2 3 9
(1) 15 M
3) 17 4) 16
69. 6 18 15
3 2 5
4 3 9
8 27 9
(1) 2 /(43)(

(3) 3 1) 6

70. A word given in capital letters is
followed by four answer words.
Out of these only one cannot be
formed by using the given words.

Find out this word ?

NECESSARY

- T

) NICE 0\ (2) ESSAY
(38) EASY (4) RACE
-

. NTSE(Level-1) Exam. Nov. — 2018
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F3%r : (9o Ho 68 Td 69)

Ru 0 gsft § gevarees freq & @ w
H-4l demr s ?

N 6 2 '
82, 5[12 '4 5‘ 18 lz 5‘ ? !2
2 3 )
(1) 15 ) 18

(3) 17 () 16

69. 6 18 15

3 & )
4 3 ?
8 | 27 9
1) 2 (2) 11
3) 3 (4) 6

70. ST fen & 92 aof ¥ uw o
Rar & SOd R oW o= P o
BIET O & @ ws oz Qar o D o
Ru 1w s= & auif @ 78 a1 ¥ og
g% ) gifeu |

NECESSARY
(1) NICE (2) ESSAY
(3) EASY (4) RACE




(33) C I
' !l
: . ' |
71. In an examination, a student 71. wh qden § o fEel & uds wel |
scores 4 marks for every correct T & 4 o P § qon ude Ted
answer and loses 1 mark for every 3T 1 U 3fFH e fordr S g afd
wrong answer. If he attempts all SER gt 75 Usd e [ 8 qur 125
75 question and secures 125 g g fpu B af IEd fRam ued
marks, the number of question he wel & f ?
attempted correctly, 1s -
(1) 35 (1) 35
M 2) 40
(3) 42 (3) 42
(4) 46 (4) 46
72. Identify the figure that completes 72. g8 SIEpiT gifer st Ru 0 Yot (x)
the pattern (x) - &l QT HL -
N/ )
Vi \/
- ' (x)
\VARVA'AR i B VA AVARY,
DO (@) );,,/ ) M @ ® (4)
NTSE(Level-1) Exam. Nov. — 2018 210




73.

74.

The first unit contains two figures
and the second unit contains one
figure and a question mark. Find
out which one of the answer figure
should be

mark ?

placed at question

Problem Figures :
19]6]

Answer Figures :

Va

QSO
,m<

@k~ 3) ,(‘)/

First bunch of bananas has (1/4)

again as many bananas as second
bunch, If the second bunch has
three bananas less than the first
number of

bunch, then the

bananas in the first bunch are -
(1) 9

10
(3) 12

4) 15

NTSE(Level-1) Exam. Nov. — 2018
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73.

74.

919

el e F &1 ompRei ¥ g gEd
TP T U ophy qur wew frw 3
ST ApfEl 7 B-dl Ry g
g & M W e =y ?

e

gTT BT

| 2

9il9;

(€Y 2) 3 (4)

R d D A gm0 B A A
TF AE B o ¥ AR B @
TR Y, 0D 3 A A
&, & v 7B A At 4 der B -

19
@) 10
(3) 12

(4) 15

.



756. Look at this series : 664, 332, 340,
1707 B89 ... . What number

should be placed at (?) -
(1) 85

@97
(3) 109

(4) 178~

76. In the given table numbers are
written according to some pattern
and one number is missing. Find
the missing number that replaces

the question mark.

12 | 47 | 21
10 | B2 | 4
64 [ 72 | 24

(1) 16

A0

(3) 62

(4) 83

NTSE(Level-1) Exam. Nov. — 2018
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-l

75.

76.

C

& T Sar ¥ yerarEs ByT & @

o - w7

664, 332, 340, 170, ?, 89, ..cvv.......
1) 85

@) 97

(3) 109

(4) 178

d ARt § dend e $
R W el 1 € g 9 uw gen
e 81 ga " sid &l Sl e
ferg & WM W 3ugEH @l

12 | 47 | 21
10 | 52| 4
64 | ? | 24

(1) 16

(2) 40

(3) 62

(4) 83

d




7.

78.

In the following series of numbers,
find out how many times 1, 3 and
7 have appeared together, 7, being
in the middle and 1 and 3 on

either side of 7. ~
.’_ "\

297317377138317385 7]
377178906

P

©) 4
3) 5

(4) More than 5

In the following figure triangle

represents 'girls', Rectangle
'players' and circle 'coach'. Which
part of the diagram represents the
girls who are player ‘put not coach ?

GV\ u
P Q‘ m T
S

—Coach

N

— Players

1) P

-~

M Q

(3) R
(4) S

NTSE(Level-1) Exam. Nov. - 2018
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77. & T den JEar § i 9] 1, 3

78.

TS A BR e BB 7 dw A @
qar 19 3,7 @ fad of ofiv & |

29731737713317385871
377173906

(1) 3

2) 4

(3) 5

(4) 58 a1fh

Fre e & frys ‘wrefal’ @1, e
Reafedl & qur g ‘P’ B gE
Heal o BE @ dH-E " S

aefrt @ weRlg st § oS f&
Rearel & gt e el § 7

et — u \— 3
P |a (Rg T
B g S
) P
2 Q
3) R
4) S




79. The figure (x) is folded to form a
box. Choose from the alternative
(i), (i1), (iii) and (iv) the boxes that

is similar to the box formed -

()

o

(111) (1v)

(1) (ii) and (iii) only

1), (iii) and (iv) only

(i1) and (iv) only

(4) (1) and (iv) only

80. Find the odd one out -

331, 482, 551, 263, 383, 362, 284

(1) 263

A2 383

(3) 331

(4) 551

NTSE(Level-1) Exam. Nov. - 2018
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o
79. 39 Rey @ sifew o & B oMl
(x) & HEHT T ¢ T & gHEY
A -
s ol
(i) Gi) (i) (iv)
(1) Baa (ii) 3N (iid)
@) 3 (), (i) o Gv)
(3) ®ad (il) T (iv)
(4) &I (1) T (iv)
80. TG GE& H vifew o oy e q

it @ -
331, 482, 551, 263, 383, 362, 284
1) 263
(2) 383
(3) 381

(4) 551

P.T. O.




81. The words in the bottom row are

82.

related in the same way as the
words in the top row. For ecach
item, find the word that completes

the bottom row of words -

(38)

81.

A @ Uk | fag o el @ e
o gdl gy B oo 5 U @ Ul
¥ Ru g 9=l @) o€ 9= @) By

ant fly bee EIG! e T{gqﬂ%ﬂ
hamster | squirrel | ? ey RRELY ?
(1) Spider (1) Whe!
(2) Mouse (2) &

If Sout.h—EasI becomes North, and
North—-East becomes West, then

West becomes :

82,

(3) FTF (FA ard 1)
(4) fereadt

gfe efer-gd, ST 99 S,
FR-ud, ufEd 99 S, ufem &=
ST |

(1) North — East @ ‘d @ (1) W—‘ﬁ
(2) South — East - el (2) aRwr-gd
/(f(North — West S {L (3) ITR-Uf¥=H

(4) South - West & S N) (4) afarer-ufem

NTSE(Level-1) Exam. Nov. — 2018
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83. In the question below an equation
becomes incorrect due to the
interchange of two signs. One of
the four alternatives under it
specifies the interchange of signs
in the equation, which when made
will make the equation correct.

Find the correct alternative :
5+6+3-12x2=17

=and x A *

5@ +andx Hyd-12+2 =17
33—-6 =1

(3) +and + " &
X AR
A (4 +and—% L
41232
*3' ‘3 9 +2AY
84. In a certain code B BOXER is
written as AQWGQ. How VISIT is

written in that code ?

SRS
(1) UKRKU @;'\ 7685
MKRKS 3 X0
9|
(3) WKRKUot QQA
(4) WKRKS

85. How many days are there in x

@\-9-
\M"’QFIJD'

weeks and x days ?
(1) 7x*

2 B

(3) 14x

4) 7

NTSE(Level-1) Exam. Nov. - 2018

S+ V8 -16 4
234

84.

85.

5+6+3-12x2=17

(1) + T x
(2) + Tl %
(8) + T+
(4) + 91—

gfe el @idfoes W § BOXER i
AQWGQ forr smar & ar I A
§ VISIT & 39 femar s ?

(1) UKRKU
(2) UKRKS
(3) WKRKU
(4) WKRKS

x.maxﬁﬁﬁ%amﬁﬁ:r
B g 7

1) 7x*
@) 8x
3) 14x
4) 7

P T, 0,




86.

87.

88.

If diamond is called gold, gold is
called silver, silver is called ruby
and ruby is called emerald, which
is the cheapest jewel ?

(1) Diamond  (2) Silver

muby

In a certain code, RIPPLE 1is
written as 613382 and LIFE

written as 8192. How is PILLER
218846

(3) Gold

18

written in that code ?

m 18826

(3) 618826

(2) 318286

(4) 338816

Choose the set of figures which

follows the given rule.

Rule : Any figure can be traced by

a single unbroken line without

retracting.

(1 I/ Tj_’ AC’L
e | QI A
(3) 8?7\’ ' .'\ S A
R A

NTSE(Level-1) Exam. Nov. — 2018
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36.

87.

88.

afe 8} @ AN, AN @ i), @il @l
Tiftye T AR &l U el STl 8l
) @F-d1 T8 gy G 8 7

(1) B
(3) AT

(2) =
(4) TR

frddl @idfds 9mr § RIPPLE &
613382 T LIFE & 8192 fomEn
o 8, SH dibioe W #
PILLER %! fhe Wehr forem smoan ?

(1) 318826 (2) 318286

(3) 618826 (4) 338816

O ot e @ sifen e
g ST Bl U oG H gE B
R U /RE Sl R o E,
REGS QCTINECE R CLE VG E RS VISR |
QS Al e |

o Ll A
o[ 2 [ QA
(3)%’/\8-
o | XX A
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89. In the following problem of
substraction find out the number

which does not stand for CARE —

90. Today is Monday. After 61 days it
will be -

(1) Tuesday  (2) Monday
(3) Sunday .f)/Saturday

If A$B means A is the father of B; '
A#B means IA is the sister of B;
A*B means A is the daughter of B
and A@B means A is the brother of
B. Which of the following indicates
that M is wife of Q ?

91.

o (1) Q$R#T@M ?%t_mr e
AQ) QsRaTHM  RS4T Tus P
(3) Q$R*THM I\

& o
/“(Qst@T*M F])~ pesh T A4
N S G4a

NTSE(Level-1) Exam. Nov. — 2018

Q&““ \TO“

)

.

89. Prefafed gem & wgt A @e-d
@ CARE & fu wel 787 @ 7

CAR
— ARE

222
(1) 8640 ) 6420
(3) 7531

(4) 9753

af o AR 21 A 61 R 3 am
PIT-HT AT B 7
(1) HTeER
3)

90.

(2) EHaR
(4) QIFER

91. d A$B & ¥, AB H fr B

A#B @ ¥, AB & T B1 A*B
F &7, AB @ g | q°r A@B
e, A,B % 918 31 i

a Frefofe & @ @98 way @
oad MQ H T E 7

(1) QSR#T@M

(2) Q$SR@TH#M

(3) QSR*THM

(4) QSR@T*M

g ©

P.T.O.




Direction : (Q. No. 92 to 94)

In the following figure small square

represents the persons who know

English, triangle to those who Marathi, -
big square to those who know Telugu-

and circle to those who know Hindi. In
the different regions of the figures from
2 to 12 are given.

12 =>English
Marathi
4 :
5
3
6 /4 & :
9
8 11 Hindi
10 '
-3 Telugu
92. How many persons can speak

English and Hindi both languages

oqu?
M 2) 8
3) 7 (4) 18

93. How many persons can speak
English, Hindi and Telugu ?

2

4) 10

1) 8
@) 7

NTSE(Level-1) Exam. Nov. - 2018
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RS : (Yo To 92 & 94 o)

A ol A oS o eis oM 9|
AR H, FYT T T g i
B, I A AT AN AR ARE F
g B 9 A afaar @ ek s
B oY B Rt Rt 851 @ 2 @ 12 %
geitar B

12

SIS

10

92, Waﬁ?ﬁ%ﬂﬁﬂﬁ?ﬁ?{%ﬁﬁﬁ
AL T Gl & 7
1) 5 (2) 8

@) 7 (4) 18

Y
(1) 8

93.

@) 2

3) 7 (4) 10




T —
¥ e "

e

94.

How many persons can speak all
the languages ?

@M1
(2) 8

In this question there is a set of
three figures X, Y and Z showing a
sequence of folding of a piece of
paper. Figure (Z) shows the
manner in which the folded paper
has been cut. These three figures
are followed by four answer
figures from which you have to
choose a figure which would most
closely resemble the unfolded form
of Fig. (Z) '

_________ G u,ég

[}
.

(@)

X P o Ty

Q

83

@) A
88 8

®) O
8 8

@ Q @)

&

"'.
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94.

95.

C
fhe eafee &l eI Sl w9 2 7

1 1
@ 8
3) 2
(@) # T
Re 1u ges & 9 sgpfodl X, Y 9 2
H O W R omr v oS o
FS & THS HN BAMAN HISHT 1
T ¥ A (Z) & TR S B
Flel T | AR A B e S @
Ru T famedt § @ @F-8 o
¥t ? :
.......... Q w oS
: ®)
X Y Z
8 8
(1) o
88
(2) o
88 8
3) &
8 8
G R -
P.T. O.



ge. If: 3+9=31

15+27=95
18+9=36

then, 12+27=7

(1) 94
14

(3) 49

(4) 53

Direction : (Q. No. 97 to 99)

Seven villages A, B, C, D, E, F and G are

situated as follows :

E is 2 km to thélwest of B. Fis 2 km to
~ the north of A. D is 2 km to the south of
G. Cis 1 km to the west of A. G is 2 km
to the east of C. D is exactly .in the

middle of B and E.
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96. 3+9=31
15+27=95
18+9=36

12+27=7

(1) 94
2) 14
(3) 49

4) 53

s ¢ (so Ho 97 & 99)

gd g A, B, C, D, E, F T G 30 JHR
feerr @ ﬁf: |

E,B & qfygq § 2 5l W B1 F, A % S0
¥ o Bt w1 D, G & ek F 2 Bl W
BICAS R & 1Rl WEIG CH
qd # 2 fFf WBID, Baw E & % i
72



97. How faris E from F (in km) ?
(1) 5 km
(3 4km

(4) 4.5km

98. Which two village are the farthest

from one another ?
(1) Dand C
Fand E
(3) Fand B
(4) Gand E
99. Aisin the middle of two villages :
(1) Cand F
%) B and D

3) Cand G

(4) Cand B
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917,

98.

99.

EF AR g w R

¥

(1)' 5 faet
(2) 6 fHt
(3) 4 Y

(4) 4.5 T '

G A qE F oA B gl wed
afires 8 7

(1) D@ ¢
2 Faa i
(3) Faur B
(4)'b(.}aan

ﬁﬁﬁ-ﬁ%mﬂﬁ}k‘ﬁﬂﬁﬂﬁ%?

(1) Caa F

" (2) Bﬂ?lTb

(3) CTMG

(4) CTar B

P, 1.0,




Cc (46)

100. How many triangles are there in 100. & E ol A Brgsit &t g o
the following figure ? g7

=

(1) 10 | (1) 10
| (2) 6 | (2) 6
48 | . @
4) 5 | 4) 5
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10.

11.

12.

13.

14.

18.
16,

17,

18.
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5.

10.

A1,

12.

13.

14,

15.
16.

17.

18.

Answers to questions in answer sheetare to be given
by darkening complete circle using Black /Blue ball point
pen as shown below : -

O e O @

The answer will be treated wrong, if it is marked, as
given below : |

g ® © 9

If you fill more than one circle it will be treated as a
wrong answer. ;

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses. carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to

be changed.

_ The candidates should ensure that the Answer Sheet is

not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheel in the Attendance Sheet. .

Candidates are not allowed to carry any textual material,
printed or written, bils of papers, pager, mobile phone,
electronic device or any other material excepi the Admit
Card inside the examination hall/room.

Bach candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Caleulator is prnhi-biledA

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidale must hand over
the Answer Sheet to the Invigilator in the Room /Hall.
The candidates are allowed to take away this Test
Booklet with them. '

Since the time allotted to the three parts of this question-
paper is very limited, you should make the best use of it
by not spending too much time on any question.
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Part - Il : Scholastic Aptitude Test (SAT)
SET: A .

rgepHia (3! H) |
Roll No. (In Figures)

gepere FHiE gl
SoUHoaIRe SHHid
Booklet Serial No, & . 7 4 3 8 1

0. M. R. Serial No.

Roll No. (In Words)

e Bvw bl A

Name of Examination Cenlre

appeft T A

Name of Candidale

Signature of the Candidate

angeft & BwIer ¢
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g9 yee gRasr 4 7ol @) qel yel @) Wl T
" No. of Pages in this Question Booklet No. of Questions Time

100 2 hours

frdleTd @ BRIER / Signature of the Invigilator :

“apareff @ 10 Frme w1 A weE-gRaaT gy v A @ yE, geEud gede § Ry 1y gt @ iRue aey 3 svd aor @ e @ o fear
S| Ay g uF gEee ¥ get @ R Ty gea w0 &) a) gy e srfers W e ave ey gade age o | udler w81 @
yearq @I wrar wtew 768 far sy g 10 et @ afoRaa, yeat @ gav @ 7 sifda @ @ forg Q¥ 26 @r Wi & wigr

srfefal & fere fader -

1. INUAIR. SN Y= g9 uden YRawH! & e ¥l
2| o9 Mudl e gRAWr @ @ @'l Wiy,
d 98 U M@ B8 euH 9 ddd el /s
dfet @rge U9 A fqavor |

2, e @ gy 2 e & ud wan yRasr d 100 yeA
) udS YT TS b Bl 8| BIF BUTHE BT
& 81

3. 39 Yy W fgvor S o’ Yd SR e W
P @ @ foiw dae Mol /@ra did wige 99
BT A @ | Rl wee-gReIT Bl Ul R Ud
IR uFd B qe i w4 | g geT- Rt
We garT T8 @1 St

4. g8 W ghflew ax of 5 uden yRaer wmwaie 3
TN UHB B U B | R Ug =T B8 o apxedi
@ g gRaaT oY SR UEe R @ forg whawe
@) gRe A b |

INSTRUCTIONS FOR THE CANDIDATES :

. The OMR Answer Sheet is inside this Test Booklet.

When you are directed to open the Test Booklet,
take out the Answer Sheet and fill in the particulars
carefully with blue/black ball point pen only.

. The test is of two hours duration and consists of

100 questions. Each question carries one mark. There is

no negative marking.

. Use Blue/Black Ball Point Pen only for writing

particulars on this page/marking responses in the
Answer Sheel. The candidate should remain careful
in handling the question paper and in marking the
answers on the answer sheet. Another booklet set

will not be given.

. Also ensure that your Test Booklet Serial No. and

Answer Sheet Serial No. are the same. In case of
discrepancy, the candidate should immediately
report the matter to the Invigilator for replacement
of both the Test Booklet and the Answer Sheet.

a?a:gg@awaamﬁﬂvwwww
% |

Note : Read other remaining instructions given on the

last page of this Booklet.
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PART - II (91T - 1) \1{}\« —
SCHOLASTIC APTITUDE TEST,
 Qiftr amar qleer

Questions : 1 to 100 Time : 2 Hours
i 1. 25 gof water contain - 1. 25 gd H & g -
23 ; .
(1) 12 x 10 'atom of Hydlogen (1) 12 x 1036 Wrﬂ a@\—ﬂ;{ % q
and 6 x 10* atom of oxygen 6 x 1023 I STfrdieT &
29 N (2) 5 x 10** atoms of Hydrogen
KN e 2) 5 x 10* WY BEgEM & 4
W o ‘and 2.5 x 10* atoms of oxygen b = .
2.5 x 10 gAY SRS &
(3) 2.72 x 10® atom of Hydrogen K
and 8372 x 10% atoms of (3) 2.72 x 10% YT EEGEH b q
\W B7 - sesni 8.372 x 10% ] SHfeiieTT &
7\ _
| /77; M@m x 10" atoms of 4) 16.722 x 10* YTET] EEESH &
£ Hydrogen and 8.362 x 10% T 8.362 x 102 AT ST
'/:ro atoms pf oxygen &
2. Which of the following contain five 2. fr1 o fred fredieer 9 @ O
molecule of water of crystallization ? S| B E?
AT Blue Vitriol (1) e e
(2) White Vitriol (2) aq fadier
(3) Epsom Salt (3) T TG
(4) Green Vitriol ' (4) &0 fadhera

NTSE(Level-1)(P-II)Exam. Nov. - 2018 P.T. O.




3. Digestive fluids in stomach has

approximate pH of -

0 @7

(3) 4 4) 6

When water gas mixed with half
its volume of hydrogen and the
mixture is compressed to 300 atm.
pressure and passed over ZnO-
Cr,0, catalyst a colourless liquid
1s obtained which is used as

solvent for paints & Varnishes.
The liquid will be -

(1) Methanol
(2) Ethanol

(3) Ether

&'ﬁmetone

5. Which of the following

arrangement represent increasing
oxidation number of central atom

(Mn,Cr,Cl) ?
(1) Mn,O;,CrO:f",CZO;,CrOQ

b ¥ .
(2) ClO;,CrO;,MnO;,CrO;

A3 Cr0;,ClO; ,CrOF , MnO;

4) CrO¥,MnO,,CrO;,ClO;

NTSE(Level-1)(P-II)Exam. Nov. - 2018

(4)

3. T & UEe Wl H pH HN el

Bl B -
(1) 0 (2) 2
®3) 4 (4) 6

Sq qreY A P SUD AN HGgT 3

T BRI & A st sy @

300 dIgHUEE & W ZnO-Cr,0,

FIE & HW F [ A T A
LS ARG I S BT A B O
aiter & fu f@ms 3 w9 § wEw
gl &, ¥ WA © -

(1) Hete
(2) gaTe
(3) g

(4) THEN

i I e i e
(Mn,Cr,Cl) @t Sifailaer g&r &
el §¢d &9 Hl USRI & & 7

(1) MnO;,Cro; ,ClO; ,CrO;
(2) ClO;,CrO;,MnO; ,CrO,
(3) Cro,,Clo;,CrO; ,MnO,
4) CrO* MnO;,CrO; ,CIO;




(5) A

6. Which of the following is an oxide 6. =1 § ¥ H-41 UH STFES TE _:
ore ? ' v 7 - |
(1) Calcite - ' (1) W . !
[
(2) Zincite 2) FraEe
4
(3) Magnesite (3) AEREe ;
(4)-Calamine . (4) FHeEIET
7. Which of the fo_llowing statements 7. S @l GZITER_'? gl & g # A !
are incorrect regarding o @ @ & 99 %9 oo |
Mandleev's periodic table ? g7 h!-'.
(a) Mandleev ' considered (a) Fvseild X ddl @ EE@T"F[ q
compounds formed by element SRS & &9 A W e |
with oxygen and hydrogen. hivad fahar |

(b) In the table Ni is placed before (b) §RN ® Ni & Co & Uea @l
Co. _ T R _

(¢) Eka-silicon in  Mandleev's @ omad gl § Ay @
periodic table is gallium. uehT-faferee fmmar o ®

(d) The properties of elements are (d) el & Nl a9 3 TEHTI] A1 &
the periodic function of their ATad HE B 2
atomic masses.

(1) Only (b) (1) #a (b)

(2) Only (c) (2) Fa (c)

137 Both () & ) 3 O) T () A
(4) Both (a) & (d) (4) (a) e (d) At

4

NTSE(Level-1)(P-II)Exam. Nov. - 2018 | P.T.O.



8. Consider the two statements
belos;v one labelled as Assertion (A)
and other as Reason (R). Examine
these two statements carefully and
decide if Assertion (A) and Reason
(R) individually true and if so (R)
is a correct explanation of (A)
select your answer using the code

below :

Assertion (A) Magnesium

imparts characteristic colour to

the flame.

Reason (R) : Due to small size
and high effective nuclear charge
ionization enthalpy of magnesium

is high.

L/Qlf)"Both A & R are true and R is a

correct explanation of A.

(2) Both A & R are true but R is

not correct explanation of A.
(3) A is true R is false.

(4) A is false R is true.

NTSE(Level-1)(P-II)Exam. Nov. - 2018

(6)

8. ugd ¥ 4 Fo Ru M ¥ 377 @ W

sfeed (A) ¥ aar quu Frepd (R)
B FHl B ANYEER 9GT P 96 T8
S (A) Tl
fepd (R) oM o d™ § adl
P aiftyeer @t @€l e B A
Ru 1 @l & oMgR W S I

Al
AfRET (A) ¢ A ST @

U FIREE 1 Y& el @ |

freps (R) : o199 Bl SR g 3=
TREE AT F PR AREE @l
ST Fotl s Bl B

(1) A X R I 99 & @1 R, A
A Gel A B

@ AdRRIT ag 1 feg R A
& wd e T ¥ |

(3) AFd ¢ fFg R oA 2|

(4) A3 B g R 8 &1




(7)

9. Incorrect statement in regard to

halogens is —
HI > HBr > HCl > HF

Chlorine has the highest
electron affinity in the group.

(2) Tonization energies of halogen

are very low.

(3) Except fluorine they show an

oxidation sate of —1 or +1.

(4) Acidic strength of hydrogen

halides decrease in the order.

10. Reaction with sodium hydrogen
carbonate can be used to
distinguish between -

!
(1) Ethanoic acid & Methanoic

acid

coot No# g

' (2) Ethanol and Methanol

&)/Efﬁanol and Ethanoic acid

(4) Ethylacetate and Ethanol

¢

. NTSE(Level-1)(P-II)Exam. Nov. - 2018

9. BN & "9y ¥ 77 HUT BN -

10.

HI > HBr > HC1 > HF

(1) FH H gedgE SgAr o A
a8 a1 Bt B |

(2) B o AT Foll dgd HA
Brll B |

(3) TN & Sifafied gl —1 argen
+1 SRR aTaRen el S
g

(4) TEENI BESH HI iy ek

&I gedl &9 2 |

qfeaq  eEghH  @EMe & Gy
arfuferar fopad ofty & & & forw
TN & ST Hehdl 8 7

(1) 3UMEE e S HgFEE o7

(2) 3UF AR Ao
(3) UM ST ZHIEH T

(4) gUET QERE AR FIF

P. T. /0.




(8)

11. Rekha dropped a metal piece A in 11. @1 9 &% urg A % gﬂ;@ U
the solution of another metal B. gl uig & fGeEd B # Sl g8
After some time a new colourless 99 9% Th CTe s € F
compound C 1is formed. A,B,C B 2 A,B,C hHIT: Bt -
respectively can be - '

(1) Cu, ZnS04,CuS0O4 (1) Cu, ZnS04,CuS0O4
(2) Mg, NaCl, MgCly (2) Mg, NaCl, MgCly
\(})/Mg, CuS04, MgSO4 (3) Mg, CuSO4, MgSO,
(4) Fe, ZnSOy4, FeSOy (4) Fe, ZnSO4, FeSO,

12. TUPAC Name of following 12. f= A @ TUPAC 5T &R -
compound will be:

H H H H
o N’
CH,-CH,~C-CH,~CH,—CHj, CH,;-CH,-C-CH,~-CH,-CH,
(1) 3-Methylene hexane (1) 3-Hiemsel= 2ad
(2) 2-Propyle-1-butene (2) 2@fo13?1—1—@@:[
(3) 4-Ethyl-4-pentene (3) 4-3ATFA-4-UeH
\/@j/Q-Ethyl-l-pentene ' (4) 2-3Ed-1-9%

NTSE(Level-1)(P-II)Exam. Nov. — 2018




13. In balanced chemical equation

", .
- . a Cu+b HNO; (dil) —
W 2

o
Ye Cu (NO3)z + d H20 + e NO

Which of the following alternative
are correct ?

(1) a=1 b=4 c=1 d=2
(2) a=3 b=4 ¢=3 d=1
(8) a=1 b=4 c=1 d=4

Jga/a:B b=8 ¢=3 d=4

14. Which of the following does not
relate to the Non Cooperation
Movement (1919) in India ?

(1) Renouncement of titles.

(2) To quit govt.
colleges by the students.

schools

(3) Disobeying govt. laws.

,}A’( Boycott of judicial courts by
advocates.

15. What does the novel 'Sevasadan'
by Munshi
relate to ?

Premchand mainly

(1) Attrocities under colonial rule.

(2" Social like

marriage and dowry.

problems child

(3) Life of an orphan.

(4) Misries of a poor peasant.

NTSE(Level-1)(P-II)Exam. Nov. — 2018

and

(9)

13.

14.

15.

wgferer A wEer §

a Cu + b HNOj3 (dil) —

¢ Cu (NO3)2 +d Hz2O + e NO
Fret & § Piv-ar ey @87 & ?

(1) a=1 b=4 c=1 d=2
(2) a=3 b=4 ¢=3 d=1 «
(3) a=1 b=4 c=1 d=4
(4) a=3 b=8 ¢=3 d=4 e=

frfafaes & O fge 999 9ra o
1919 & STEANT el o 787 o1 ?

(1) SUIfeE] a1 9w |

(2 REE a1 Wl w9
- aferotl 1 Uit |

(3) TTHY HIAT ST |
(4) ThiEl ST @A P FEwhR |

‘qaraes’

LU C N I el
e § fhed ddftE @ 7

(1) SfufRfae smea # g3 sl |

(2) arei-fene ud west SR |l
I |

(3) U Y I Sile |

(4) wh e [HEE H 59|

oo a8l A




16. Which the following statements
regarding Liberal

19th

are correct

Nationalism ‘'in century

Europe ? ,
(I) Right of Liberty and Equality .
(II) Formation of people's govt.

(ITNOwnership of private property.

(IV)Complete Control of govt. on

all  public and  private
property.
(1 I, 11, 11T @) IV, III, I

gy M1, IV, 11+ o), ILIY

17. Which of the following statements
are correct on Gandhiji's breaking
the to

Disobedience Movements 7

salt law start Civil

Iy Salt was the need of rich and

poor all. -

\}LB’British Govt. levied tax on the
salt.

/(III)OnIy govt. agencies were

allowed to make salt.

(IV)Lord Trwin abolished tax on

salt.
I, 11, III
@) L1V, 1

(2) 11, 111, IV
4 LII, IV

NTSE (Level-1)(P-II)Exam. Nov. - 2018
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16. 1947 e B 709 F WR USAE B
gedt § P-Y F 7ot e !

(I) Eei=rar Td GHIFT AR |

(I1) Y @l LRI 1 T |
(DRl GuRT B T & |
AV)FET wd geeifye gafa /W gt

1 qUT SR |

{1y T, I A1 (2) IV, L 1

(3) IIL, IV, 11 4) I, IL IV

Frafafag ® @ @9-9 &I HET

ST AR B o O CE M B b

AT THE BT AGH BT F

dey § gel e !

@O & @& o g il wedl @
ageRdm o |

17.

a1 ffeer @R 4 A9E W BT @M
fear |

)T g @ AER dad
AR Gl @l oA

(IV)ed gLem F W & &Y el fad
o |

(1) 1, 1, 11
(3) 1L IV, I

(2 IL 1L, IV
(4) L 1III, IV




(11) A

18. Which of the following statements 18, WX G 1929 & gErE) ey
are correci in relation to the great @93 599 gl & ?
YT ] [ . 4 9 T4
depression of 1929 in India ? It led T aRvTgEEy gu-
to___
() @R # fryge

(I} Decline in trade

(D % 3 2 § S or)
Arnsiefe fay ¥ adwd

(1) Steep hike in wheat prices.

(ILI) Growth in industrial o~
investment, | (V)2 % oA |
(IVYFall in jute prices. @ ILOLTV (@ 1IL LI
) ILIUL IV (2) 111, 101 @ LULIV (& LIL1V
(3) I, I, IV {}M/I II IV
Direction : (Q. No. 19 to 22) fader : (9o Ho 19 § 22)

Read the statements and select the

correct answer from the options given A R M q;e:;?ﬁ B oUed o Ry
below. el & @ w8 99T @ "aT S
(1) Statement I is true, | -(]').q;ar:{ [ ad e

Statement IT is false. | O 1T .W ¥
(2) Statement [ 1s false i
(2) w7 1 T B,

HY 1 w8 B

_Statement IT is true.

(3) Both Statements are true and
statement Il provides explanation to @) A FoT W ¥ g 11 weT oA

statement, .

T BT B |
(4) Both Statements are true but
statement 1l ~does not provide (1) & FU T %, W] &9 11 %8 1
explanation of statement 1. F A B B

NTSE(Level-1)(P-IDExam. Nov. ~ 2018 ‘ | P.T. O.




19.

20.

21.

Statement I : Long years of war
and the cost of extravagant court
of the king drained the financial

resources of France.

Statement II : Only the members
of the third estate had to pay taxes

W

to the state.

Statement I : Russia's army lost
badly in Germany and Austria in
1914-1916. All able bodied men
were called to the war which led ﬁo

scarcity of bread.

Statement II : Tsarist autocracy

collapsed in 1917.

e
Statement I Railways were

essential for colonial trade and for

the movement of Imperial troops.

Statement II ;: The forests around

the railway tracks fast started

),

disappearing .
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19.

20.

21.

FU9 1 : o4 @99 § d9d @ & 9
M B AR B R TE B BT
wig # anfeles dares ofior & )

Foe 11 : ad gar i & deel
T T HT AT Brar o |

H99 1 @ 1914-1916 # &F & A
P Sl g omigar # Wl Wi
Pl erdRe &0 & dvg wsli el
@ g H gen forn o R we
V& @ a0 H aHEn Iq & R |

w99 II @ § 1917 § SIRYME &
H g |

Fgq 1 : Nufafle aur ud Qe
el & g eErET & fee e
& BIFT STELTSH o7 |

Foq I : (@-9efEd & ong-ue @
a9 ity & e & @y



22,

23.

Statement I : Simon commission
was opposed by all the political

parties in India.

Statement II Lord Trwin

announced inclusion of 80% Indian

members into the Simon

Commission. Q’)

Arrange the following historical
developments in a chronological

sequence -

(I) Unification of Germany.
(IT) Unification of Italy.
(IIT)The French Revolution.
(IV)Treaty of Vienna.

(1) I I, III, IV

l)2.)/111, IV, 11, I

3) IL IV, III, I

@) IV, 1, IIL, 11
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23.

A

WI:W%H?ﬂmﬁEﬁaﬁ

AR AEHT-HHISH @ A fpar
FYT I ¢ & 33 F aEee e

4 80% WRAY wewi @ anfier Reu
S @ Eer |

Frffad Uvele gemedt &

PIAHHIHIR HART &l -

(I) ST & T |
(IT) FEoll 1 UehliehToT |
(I11) STt st |
AVl &t iy |

(1) I, 1L, 111, TV

@) IIL IV, 11, 1

@) IL, 1V, 111, 1

(4) IV, 1, 111, 1T

S 1P %




24. Arrange the following historical

developments in a chronological

sequence -

(I) Poona Act. \0\6 s

(II) Lahore congress : demand of

'"Purna Swaraj'.

(IIT) Establishment of ‘'oppressed
class Association' by Sh. B. R.
Ambedkar.

(IV)Second round table conference.
(1) I, IL 110, IV (2) IIL, IV, II, I

\9{ I1, IIL, IV, I (4) IV, II, 111, 1
25. What does Mahatma Gandhiji's
popular image in short dhoti and a

spinning wheel depicts ?

/Sélf relience and resistance
to use of British mill made
cloth.

(2) Easy and convenient way of

living.

(3) Living like a poor farmer in
India.
(4) Depiction of an indigenous

image.
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25.

(I) AT FHEN |
(D) @R AfReE ¢ gl @R @l
AT |

10 & . e, ey &R ‘e
T AU’ @t TR |

(IV)GEY Mefs e |
(1) LII, I, IV (2) IIL IV, IL I
(3) IL, IIL, IV, T (4) IV, 1L, 111, I

e A @ 81 9 9 9 @
qre B, & g9l & 7

1) sreafelar wg ffew @ & &
e T Uiy |
(2) S ud gEee siad A |

(3) ARA & Tl fHgr @ i @ |

(4) @R B H agiET



26. Certain minerals may occur as
alluvial deposits in sands of valley
floors and the base of hills. By

which name these are known ?

E}J{){la-cer deposits

(2) Manganese nodules
(3) Bromine

(4) Malleable

27. Other than current fallow land is

known as -

(1) Left without cultivation for
one or less than one

agricultural year.

L),‘B/Leﬂ, uncultivated for the past

© 1 to 5 agricultural year.

(3) Area sown more than once in

an agricultural year.

(4) None of the above.

28. Which one of the following are not
used iInto rain fed storage
structures that allowed the water

to stand ?

(1) Khadins (2) Johads
(3) Pit Mar Pani
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- 26.

27.

28.

A

qaﬁ';a‘r%aﬂmlammﬁaﬁra%’r%a
¥ ol & &0 F g8 @ g o
215 b W @ S o ® 7

(1) wER fay

(2) HiST Tifre
(3) ST

(4) ecae

Ww'@ﬁmm%—

(1) & % Y ad a1 3Hd F9 g
¥ Qe 7

_(2)6{5‘?1%53@&'&%%3#

UESEE

(3) th FY a9 § uF § AWF g}
a1 T AF |

'(4)wﬂmﬁaﬁéa€n

fr=fiad & @ 9w awt oo wwhia
& b o w@n 787 e s ?

(1) @rEN (2) sEe
(38) €T (4) T T

=

P.E. 0.




29. These

30.

are species whose
population has declined are know

as :
(1) Vulnerable species

(2) Endangered species

Mxtimt species

(4) None of the above

To which one of the following
types of vegetation does rubber

belongs to ?
(1) Tundra

(2) Himalayan

(3) Mangrove Forests

\/M ropical Evergreen Forests

31. In which of the following state is

the Manas Bio-reserve located ?
(1) Punjab
(2) Assam

(3) Kerala

LL,élf)/()};'isal
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29,

30.

31.

q ol PR der ge W', @
Fedrdl & 7 |

(1) e st

(2) wehe Sifaar
(3) g Sfer

(4) SR | q Fi3 TEf

W @ Hay fFefafeg § @ 9
U Y et F § ?

1) g

(2) fearm

(3) W &9

(4) I@THERY aul o

g S ded FEg aRd & S99
T § Reg B 7

OREIC]
(2) oTaH
(3) i
(4) g



32. The movement of the plates
results in the building up of
. stresses within the plates and the

continental rocks leading to -
(1) Erosion (2) Weathering
(3) Folding \/47 All above

33. Which name is given to the
periodic development of a warm
ocean current along the coast of
Peru as a temporary replacement
of the cold Peruvian current ?

(1) Kaal Baisakhi
El Nino
(3) Monsoon
(4) None of the above

34. Which one of the following
statement is not true ?

) Coal that has been burried
deep and  subjected to
increases temperatures  is
bituminous coal.

(2) Large reserves of natural gas
have been discovered in the
krishana Godavri basin.

(3) The monazite sands of Tamil
Nadu is also rich in Thorium.

Qé) Photovoltaic technology
converts sunlight directly into
electricity.

(17)
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32.

33.

34.

A

QA @1 AR B FROT QT @ o T
W B o Ry werdidm de #
T I BT B HE YRGS
FrsT -6t fhand et & 7

(1) TR (2) 3T9ey

(3) aeH (4) IUET g

28] U o 4R B M W IR
AR W T S 4w & e @ o
a9 fear ar ® 2

(1) & S

) T i

(3) HYA

(4) SWE ¥ § P T

Fr=ffad & @ F9-a1 waw g8 787
g7

(1) 0E § g ol e amme Q
yfed diEd H e e
el ST B |

(2) FoT-NeEd w& A F i
a0 & R wosr @ g

@) dferg A Bem gl HieniEe
W H Ry @ 9= aig S 2

(4) B dcers SN & gy @
e fge & aRaffa fear siar 2|

P. 2. Q.




In India this primitive form of
cultivation is called by different
names. Select the correct answer
using the code given below -

35.

(1) Madhya Pradesh (i) Pama Dabi or

Koman

(2) Odisa (i1) Bewar or Dahiya

(3) In Western Ghats  (i11)) Jhumming

(4) North-Fast region  (iv) Kumari

(1) 14, 2—i, 3-iv, 4-iii

(2) 1+, 2, 3iii, 4-iv
A 1, 2-iii, 3-iv, 4-i
(4) 1-ii, 2-1i, 3-1, 4-1v

36. The following waterways have
been declared as the National
waterways by the Govt. Select the

correct answer using the code
given below -

(1) Allahabad and
Haldia

(i) National
Waterways No,-3

(2) Kottapuram-Kollam (ii) N. W. No.-4

(3) Kakinada- (i11) N. W. No.-2

Puducherry stretch

of canals

(4) Sadiya and Dhubri  (Gv)N. W. No.-1

waterways
(1) 1-iv, 2—1, 3-i1, 4-ii1
(2) 14, 21, 3111, 4-1v
(3) 11, 2-iii, 3-iv, 41

\/(m—iii, 2 v, 341, 41
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36.

(2) 3&ar § (i) 9T a1 afedr
(3) ufeerd) | # (i) g
(@ A gl mmat § vyl

(1) 1-ii, 2, 3-iv, 4iii
(2) 1-i, 2-ii, 3iii, 4—iv
(3) 1—ii, 2—iii, 8-iv, 4—i
(4) 1-iii, 2ii, 8-, 4—iv

=1 SIemElt @ YR 9ER &
T SeHr At e w1 Ru
T HIE H GG HA B FEl AL H
I HifeT -

(1) Bl e geEE () U A
q&1-3

(i) TS ST
&4

(3) FIHIIRT ST GEEad (i) TS STeTwr
T BY B U-gy §En-2

(4) i 9 g8 & 72 Gv) U TRt
SEIgE AEl Sferr -1

(1) 1—=v, 21, 3-11, 411

(2) 14, 21, 3111, 4-iv

(8) 1-i, 2111, 3v, 441

(4) 1-ii1, 2—iv, 3-i1, 4-1

(2) FEGRH F Flew



——————

37. Match the following :

The major iron-ore States

belts in India

(1) Odisa-Jharkhand (i) Karnataka

Belt

(2) Durg-Bastar- (1) Goa and
Chanderpur Belt Maharashtra

(3) Ballari (i11) Chattisgarh
Chitradurga

Chikkamanglurn

Tumakuru Belt

(4) Maharashtra-Goa  (iv)Odisa

Belt
(1) 1-iv, 2-iii, 3-ii, 4-i
(2) 1-4, 2-ii, 8-iii, 4-iv
(3) 1-ii, 2-iv, 3—iii, 4

‘}ga{w, 9-iii, 8-, 4-ii
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(2) -SER-TFYT (i) TS T
et : RS

(3) si-FEEg, (iii) BETE
4d)

(4) TR -Tat (ivyanfan
9d)

(1) 1-v, 2-iii, 3-ii, 41
(2) 11, 21, 3-iii, 4-iv
(3) 1-i1, 2-iv, 3-iii, 44

(4) 1-iv, 2-iii, 34, 4-ii

P. 7.0,



38. Choose in correct statement from

the following -

(1) Election of Indian president is

direct.

Mction of the prime-minister

is direct.

(3) Ministers are appointed by the
President on the advice of
Prime-Minister.

(4) President presides over to

cabinet meeting. _

39. Which of the following is not a

permanent member of security

council ?
(1) Britain (2) U.S.A.
(3) China _,Gd’)/ Germany

40. Indian parliament's consists of -

(1) President, Vice President and
Rajya Sabha

Vw/President, Lok Sabha and
Rajya Sabha

(3) President and Rajya Sabha

(4) President, Vice President and
Lok Sabha
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38.

39.

40,

Fres & @ @ e g -

(1) ARG Tl & AT Heet B |

(2) "= 1 A A B |

(3) #f=@l & gl sl &r
YYFHE! H Hoe 9 e 2|

(4) Tsedfy geEgUEd @ o @
ST el 2 |

Frer & @ guen oo & @E 6w

H--ar 3y FE L 7
(1) Fs'l%:[ (2) oafE
@) o (4) ST

AR gog ¥ et B -
(1) usgufe, Sy o oy g9l

(2) Usufd, @k g g ST GH

(8) Ureeufe g TS AN
(4) U=gufd, SUSfd g @i a9



(21) | A

41. Choose the odd pair of 41. W= =ffaa § 9 fwm sier sifky - i

personalities from the following -

(1) Mrs. Indira Gandhi and _ |
Narendra Modi (1) St g A @ e Al .

(2) Balram dJakhar .and Shivraj .
Patil (2) I e g faus wled

0(3’{ Narendra Modi and Sumitra
Mahajan

(8) = HEl g ghET "o

(4) Dr. Rajendra Prasad and Dr. (4) . o= Ta@E g <. 4.4 i

V. V. Giri
42. Which of the following statement 42, W= 9 @ Gl9-a1 FoF g6 787 2 7 |
18 not correct ?
. | (1) IS B oTeA IS @ R |
Telengana is created from
; Tar |
Orissa. |
(2) Uttrakhand is created from (2) TTES P T IRy A |
U.P. fobaT T |
(3) Jharkhand is created from -
Bihar. (3) @S %1 o fom) 4 fRar | 1
(4) Chattisgarh is created from (4) BT F oA g5 Ry . '
M. P. il |
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43. Who presides the Joint session of

44,

45.

Parliament ?
(1) President
(2) Vice President

Meaker of Lok Sabha

(4) Prime-Minister

Which of the following is not a

Political Party ?
(1) INC

(2) BJP -

-Which of the following is not a

correct match ?

(1) U Thant - Burma |

(2) Kofi Annan - Ghana

(3) Boutros Boutros Ghali - Iran

(4) Kurt Waldheim — Austria
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43.

44.

45.

dHE & dgEd A9 Wbl STemEdl
BT FA B 7

(1) gt
(2) SURTSEYRT
(3) THTHT & ]

(4) IFHAT

et & q I oI 3@ 78T 6 7

(1) og.g .
) d.9.4.

(3) SU (AAP)
(4) JR.Ug.ug.

frr & @ diF-T1 Ryw e @ 7

(1) g o< - T4
(2) S ST - o1

(3) Y A =l - A

(4) %t diceergd - SfRgan




46.

47.

An industrialist Mr. Bajaj has
made an investment of Rs. 10 lacs

Rs. 10

training and Rs. 5 lacs on medical

on education, lacs on

care of the employees of his
company. His efforts are towards

strengthening to -

(1) Working célpital
\Qéluman capital

(3) Fixed capital

(4) Capital growth

If a farmer's cost of production to
produce one quintal of wheat is
Rs. 1800, then Govt. of India has
adopted a principle to have at
least MSP as below -

(1) Rs. 2700
Jé)/Rs. 1800
(3) Rs, 3600

(4) Rs. 2000
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46. TF  GErEld o

47.

A

CEI = e
FHHT & =R a¥ e § 10 @rg
579, o ¥ 10 @ B9 qer
Fibedr S@we § 5 W@ s @
fraer e | e a8 wE HeiEd @9

N S e T -

(1) #rieliar goit

(2) HHdrT Toht

(3) Tl it

(4) T e

e far gk fRed W oA Y
O B IAET @ 1800 Fo ot B
T ARG @R A & q 9 Taw

9T 4 T B sl B SToemE
g, S fee R -

(1) 2700 BT

(2) 1800 9T

(3) 3600 vUU

(4) 2000 ®4C

P.T. O.




48. Assume, there are three families

lives in a village. In family of Mr.
Ramlal Elder son Mr. Anil-work
on their fields and younger son
M in district
court. In family of Mr. Shayamlal-

only son Mr. Dinesh work in a

nzz;rby factory of making spare

parts of motorcycle as an engineer.

In family of Mr. Mohanlal-has two
daughters-Elder
‘__-__-_-'_"-u.

insurance agent and yonger
S a runs her internet cafe.

Monika is a

‘Thus, what is the ratio of economic

sectors in which people of this

village are engaged.

(1) Primary-20%, Secondary-60%,

Tertiary-20%

(2) Primary-60%,
Tertiary-20%

Secondary-20%,

(3) Primary-20%,
Tertiary-60%

Secondary-20%,

) Primary-20%,
Tertiary-40%

Secondary-20%,
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(24)T “\ o5l

1 1 e B B | S B R G| B G
14 uaE & uRer § Sr S
AT o Qdl § HH B & adl
Bler da gl Rren ome # @i
Tl wmad & yREar § dad U@
Jer B o g & A gEfea @ a9
qEE @ el # FAR geEY Hm
e 81 o Ao $ 9RER 7 A
afeat &1 9l A A d ove @
HTH HT & qAT BT qE1 WMl el
% Tl & 39 YK 29 G b arl

(1) Jrefies-20%, fadras-60%,
- JdluE-20%

(2) TrEfEH-60%, TEdaR-20%,
JeiH-20%

(3) UAHH-20%, fadas-20%,
JAaR-60%

(4) SeIfER-20%, fadias-20%,

JalEH-40%



49, XYZ Bank has Rs.10000 crores
public deposits and interested to
utilize 7500 crores of its funds. In
‘your opinon, which of the following
activity do you find more better

option for bank -

(1) by
branches

renovating all existing

(2) by deposit it to central bank

by
branches

opening many  new

(4) by extending loans

50. Following are some activities -

(A) Giving seeds and fertilizers
subsidy to the farmers

(B) Cultivating wheat
(C) Making atta from wheat

(D) Providing storagé facility for

the wheat
Out of the above, which
activity/activities ., relates to

primary sector -
(1) A,B,D
(2 A, B

P

4 B,D
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A

49. XYZ d% & 9@ 10000 #HUg Ho @
S s AT € % zad @
7500 HUE To & SYAN AT A&
Bl oo fEm @, et A e
nfafafy s & fore Sear @it ?

(1) SOt 9 gaae el @
REGIEUIETG IR

(2) B &6 F 2§ o=
@) sgd Al 7 g G §
(4) F1 fowga & H

50.

(B) Mg @l Sl F
(C) NE | SATeT IR HIAT

(D) g @ & fom e @ gl
&I T

Sqlad § - wfafafy afafieer
refes 85 § TR el & 7

(1) A,B,D
(2) A, B
(3) B

(4 B,D




A

51. Income alone is not a completely

52.

adequate indicator of development
of a country. Which one of the
following statement is incorreci
in this regard ?

(1) Money cannot ensure a
pollution free environment for
individual.

(2) Some people earn more than
others do.

Money does ensure respect
and dignity for individuals.

(4) Money helps us buy material
goods and services only.

Match Columnl with the
statement of Column IT -

Column I Column II

A. Right to | L
inform

When I buy an electric
iron and suffered electric
shock while using it

B. Right to | i.. When I parceled a packet
Choose from post office but not
delivered yet

C. Right to | iii. When 1 buy a shirt from

Safety company outlet,
instructions for washing it
was tagged on it

D. Right to | iv. When I have taken a gas
seek connection, dealer insisted
redressal me to buy stove from

them with the connection

but I denied

(1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-iv, C-i, D-ii1
(3) A-iv, B-iii, C-ii, D-i

A A, B-iy, C-i, D-ii
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fpdl dsr & fem @ qolea g
Hebeh dad oM & T 7| 39 gey
4 = ogeEl & @ @A udt 787
g7

(2) B @ Y @ Hlem F SR
F THA E | '

@) a7 @ & g HE-geEe
e e 1

(4) ¢ Hee Ao qegelt ofiT Janeft
H Gle ¥ e Heer 8 |

Praq 1 & dfayq I & @& 9 e
ifr -

e 1 I 11
A gE # | WE WY uh Rl @
TGP CICES IR CII E l

FH B AT Rl @
H

qq HY SEM A Uk
e o b ok
e fefomed 8 &

B. @99 & | ii.
e

C. g # | i 99 AN HN eTeene A

g | @Y gld B oo
g A1 dal fdyr e
T 8

D. fimq?r iv, 5 WY us Y w wNRE

fFraert forn @ e T 7 Ay
e e gden @ R

ag g Al Bomer
R —" X E’ﬂ e
(1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-iv, C-i, D-iii
(3) A-iv, B-iii, C-ii, D-i
(4) A-iii, B-iv, C-i, D-ii




53. There are a variety of ways in

54,

which the MNCs are spreading
their production and interacting
with local producers in various

countries across the world.

Which one 1s not feasible ?

(1) By setting up partnership with

local companies

(2) By using the local companies

for sﬁpplies

f{ By imposing restriction on
: trade of local companies

(4) By closely competing with

local companies or buying
them
In A ABC, ZABC = 90° and

/BAC = 60°. If bisector of ZBAC
meets BC at D, Then BD : DC is -

(27)

A

53. UH Fgd @R aldd ¢ Rrd 95 ushy

54,

Z/BAC=60° B

HfET (MNCs) 99T @R A=
a9 § D ¥ oMX @@l W
Il & Y UL Y9 @l

T § Be-ar dg T8 S 7

(1) &g st 3 oarr aEer
BT

(2) W @ Qi & o e FfE
&I UIRT AT

(3) WMIE FUME F  AUR YT
yicrse Tt

(4) @HE FUE & A9y TeRie
yfaeqst Fd a1 I @iE

3
gt /BAC @

TafgeeE BC @ D WX fieder @, A
BD:DC ? -

AABC H  ZABC =90°

-
(1) 1:2 () 1:8 Bh= <3
S TRV C @ 1: 43
(3) 1: 42 (3) 1: 42
4) 1:1 4) 1:1
-3 ¢ & ¢ ARD VY c B8R
NTSE(Level-1)(P-II)Exam. Nov. - 2018 8D _ A8 P.T.O
AR — Re BN T 7o AP
6c V3 P d



hEEY ab= A axb=~5
b _ 3 aC = 2N (28) par. = =6 | ax2b = ~6
T b——\

55. a and b are roots of the quadratic 55. a 3T b fZEE H‘fﬁER“T X2+ b5x+d=0
equation ¥+ bx + d = 0 and a and %ﬁ%ﬂmaeﬂ'{cﬁrﬂlﬁﬂw
¢ are roots of the quadratic ¥+ 6x + 2d = 0 B el g1 g
equation x2+ 6x + 2d = 0. If there YR I G H dhad U @l
is only one common root of the SIHYTS e 3 al d & gfga =9
above two equations, then the g -
possible value of d is - o Ead= 1D
(1) 2 @ -2 _yid @ 1) 2 @) -2

e @ -4 &= (3) 4 4) 4

56. Sum of the lengths of all edges of a 56. fhdl &9 & @ fRRt @ dagdt @
cube is x metres. If the surface M o« diex B AR 39w @ gy
area of the cube is x sq.metres, 8% x g9 HIET 8, o T TG
then its volume (in cubic metres) Zi_,i 2% (EH Al ff) g -

18 - X S

(1) 3 ‘}z{ YR 2,);1 (1) =8 2) 8

@) x @ 2 o gpdxod @ x (4) 2
(5"‘1_'}( 2.

57. ABC is a right angled triangle, 57. ABC % §W&T B9 ¢, Rras «B
right angled at ZB. If side AB is aEepr 31 afk Yol AB &l ﬁi@ D
divided into three equal parts by A E 9 swEy ar 29 YehlX
points D and E such that D is WW%%D@EA%G@?
nearer to A, than A frepe &,

%—%‘g}isequalte- ? %E%W%_

1) 3 @ 21 R & 1) 3 @ 21
2 2

® 2 L2 @ 2 (4) 2

otb= -5
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BC = Yy B>

®

ey EE
__‘B‘lg)(‘})

2
93,(9“
Ay

7 BS
AL = Ax%Be™
= n=Bc”




o L4

Mo\‘-\»mdlu%cﬁ

] \5M 'J 0
"’-.:_ \()J\ (29) Sg‘r \L&X\S (\Q«O A
7 2N .
2 © 0S 2 0@ 1
: \ ;

58. There are 15APs whose common > 58. 15APs ®, R @d  ofdv @HHan:
differences are 1, 2, 3, ..., 15 1,2,3,.,16 ¥ g% @ uQ@% & g
respectively, the first term of each T 18 a9, 3T 159 UE @ 4
being 1. Then sum of their 15th -

; terms is - _11 E\i\....« \\2‘; %k £
! ) by N 24
| UX)/1695 (2) 1792 C Rk \ ( 89(1) 1695 (2) 1792
(3) 1800 (4) 1924 e 6% 3 1800 (4) 1924
! X220
- ﬁb \O
59. ABC 1is a triangle in which 59. ABC % Ry 8, Rrgd AB = 10 am,
_ Nl
AB=10cm, AC=24cm  and A AC = 24 @ 3R BC = 26 & B
BC = 26cm. If AD is its median, I AD Tl A ¥ o AD @
then length of AD is - |0 Fl‘?ﬂ'% E=
Y Ciy
(1) 12 em 12.5 cm (1) 12 o (2) 12.5 i
!
| (3) 13 cm (4) 14.75 cm (3) 13 &t (4) 14.75 &t
‘ B B Q;é S ¢
! e |

60. The decli;:r;gg expansion of the 60. Ty 14588 P EIHAT T -
number 3 will - 3760
(1) terminate after two decimal 28 v (1) & I9HAg ©HET B 98 o 8|

places _____.__,\“‘\%%-
(2) terminate after three decimal (2) OF IMTE @M & 418 9fd Bnm | |
places ' |
\%rminate after four decimal (3) AR SIHd WHEl $ I/ 37d 2n | | ,
place |
(4) not terminate 5(,( 7 (4) o A8 Br |
X 2%
s/ E7se—
NTSE(Level-1)(P-II)Exam. Nov. — 2018 5| 1755 — ' P.T. O.




(30)

61. All the zeroes of the polynomial

62.

63.

x3+ 2x2+ a are also zeroes of the
polynomial x®— x1— 4x3+ 3x2+ 3x+ b

Then, the values of a and b are

respectively -
(1) —1and 2 —1 and -2
(3) 1 and -2 (4) 1and 2

Present age of a father 1s six times
his son's age. After four years, the
age of the father will be four times
his son's age. The present ages (in

years) of the father and son are

respectively - g2

(1) 24 and 4 B e

(2) 30 and 5 L\xw/% =62t
(_}3—%% and 6 23 — &

(4) 0B e =t

The largest number which divides
72 and 127 leaving remainders 7

and 10 respectively is -
L5907

(1) 845 (2) 458

o1

(3) 65

. NTSE(Level-1)(P-II)Exam. Nov. - 2018

61.

62.

63.

13 9

qEUE X%+ 222+ a B Gl I IgIS
X xt— 4x+ 332+ 3x + b B W

A% E1 T @ AR b d AA B
¥

(1) -1 8l 2 (@ -1 AT -2
@ 13dR-—=2 @ 132

wh fdl &l adue oy 3Edh g bl
G B 6 A B AR AN & 9, fwr

F g YA & Y b 4 A OE
sttt | foer ol gE @ @M o1y
(ast #) wmar: ¥ -

(1) 24 A 4
(2) 3035
(3) 363X 6
(4) 28 37
98 G99 9! G ey 72 9N 127

Eﬁrﬁwﬁﬂaﬂﬁwéﬁqﬁma: 7
AN 10 o &, B -

(1) 845 (2) 458
(3) 65 4) 13
R



64.

(1) 1and 2 W =2
1 A2 1 and 2 3
(3) 1and-2 ©
, A
(4) -1 and -2 JUS v
(k™ — \
65. cosO-sinB+1 .
, is equal to -
cosBO +s8inf -1
Q_GM&)( (ARt
(1) secO + tan0 ’6

66.

" trisected at the points P and Q (P

msece — cot0

fA A
2 \J-"“r)_ [\ ) (L\?)@
(' ' 3 ( : ) (31)
The line segment joining the
points A(2, —2) and B(-7, 4) is

is nearer to A). If coordinates of P
(a,00 and (-4, b)

respectively, then the values of

and Q are

a and b are respectively -

(2) secb — tan0

(4) cosecO + cot@

From the top of a 60 m high tower,
the angles of depression of the top
and bottom of pillar are 30° and
60° respectively. Then the height

of the pillar is - 1

(1) 20 m (2) 20+/3m(o"

(3) 40 m (4) 4043 m

-

NTSE (Level-1)(P-IT)Exam. Nov. — 2018

(_:{ ﬁ'»«)

@© 0\’:" __’_]_j-\i—— A
k.
Figell A@, -2) @R B7, 4) @

64.

65.

66.

fam e @S @ &g P el Q
gabiE #xa § (P fig A & aifts
Fape B)1 3Rk P ok Q & Fdwi®
FAM (@, o) X (4, b) & @ a
A b F HAM HA E -

(1) 182

@) -13r2
(3) 1R -2
4) —1 R -2

cosf —sinB +1

cos0 +8inO -1 . %_ .

(1) secO + tand
(2) secBb — tanf
(3) cosecO — cotd

(4) cosech + cotd

60 Hlo Fdl tF AHR & RrEw & uh
wy & ofid ot e fat & ofamse
HoT HEY: 30° &K 60° ¥ a9, wH

% HAE § -

(1) 20 Hro (2) 2043 Hlo
(3) 40 4o (4) 4043 Ho
- P.T. O.




67. The diagonals of a quadrilateral
ABCD are perpendicular to each
other. Then the quadrilateral
formed by joining the mid-points

of its sides (in order) is a -

A kite P

(2) rectangle

D@ﬁhombug

(4) square A \'p)

68. In figure, PQ is a chord of a circle
with cenfre O and PT is its
tangent at P. If ZQPT = 60°, then
ZPRQ is -

1) 105°
2) 115°
437 120°
4) 130°

~ NTSE(Level-1)(P-II)Exam. Nov. - 2018

67.

68.

el =g ABCD & fagol qex
dq 1 9, 39 agys @ yemel &
TeA-forgel A (F9 @) B W
e agHst ¥ T - |

(1) e

(2) omad

(3) THAGHT
@)

AT #, PQ % O a1 ga &l T
sfiar 8 @1 Rig P w PT S U
wet @r ¥ ARk ZQPT = 60° &, &
/PRQ ® -

Q
O, R
P T
(1) 105°
(2) 115°
(3) 120°
(4) 130°



.

(33) ‘ A

69.

A momento is made as shown in
the figure. Its base PBCQ is silver
plated from the front side.

3K

69. T H a9y TR TH A S

T ¥ 39D eMUR PBCQ W SRl &)
AT = B Fele HE T

\ A \
sl % 5 S/l
The silver plated area(s“b CIEE TR e L
(use:r=£72—j A (,,:§gaﬁq ﬁﬁ?ﬂ]
R :

1) 11 cm? ! (1) 11
\)%/ﬁ.s cm? I%__ggi‘\xsgar (2) 11.5 A2

(3) 12.5 cm? Ve 3¢S (3) 12.5 Q2

(4) 13 cm? S (4) 13 =2

70. A bucket is in the form of\g)t:/ 70. UFH el Qii F UH BE B SMER
frustum of a cone and it can holds @ B qur gEH 28.49 dfler U e
28.49 litres of water. The radii of B 39 A B Ul ol FrEa
the top and bottom of the bucket Rt @ Boud smgn 28 @@ @R
are 28 cm and 21 cm respectively. 21 W B o9 39 S & fadw
Then slant height of the bucket is - & 8 - :

[use = %] (?f =2Tr2 TN Eﬁ“fﬂU.]
(1) 15cm (1) 158H7
(2) v246 cm (2) V246 THi
=48y /253 cm (3) 253 @I
(4) V274 cm (4) 274
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a . -

A (34)
71. Two dice are thrown at the same 71. & UG H UH W BT A 8 | A .
time. The probability that, the uEl & HUY Badl 9v N arl
sum of two numbers appearing on destl @ 9 6 9 oAfvEw ER@ 9 4
the top of the dice is greater than FH B Bl W ® -
6 but less than 9, is -
Qe (e () Gty (09 (56
. ) = ; (1) ==
w62 o 8 (290 (252) (3o (259)(26)36
o, )
%6 gdz}fl ® 3\) (3 9™) EFE ‘:3(%35)%’537
3 . | 3,
(1) (W2) (153) Mo 0WMs9 (45¢)
2 @2 3) 2
£ 9% (5D G5y Gezh T O
- : 553
A
(4) = (4) =
72. A person can row a boat at 10 km/h 72. U ¥ 9id S H 10 BBEvE @ a
in still water. He takes two and AT TFTS T AT B T TR
half hours to row from A to B and 3 i R o 3 1 i
back. If the distance between A ; A _ 25 =
and B is 12 km, then the speed of 99 ol 81 R A X B & 919 &l
the stream is - gl 12 Pl B, & o At e R -
= Qo) X & |
" \e2 —\0 ~ X .
&/—25 km(h e (2) 2% /e
(3) 2 km/h 24 o =~ X% (3) 2 Pl
9
(4) 1% km/h 0 R S 8 (4) 1% fepmeg
NTSE(Level-1)(P-II)Exam. Nov, - 2018
SO SO —2M 26 = e g \
S ~ r 3
¢ 5 , >




(35) A

73. In the figure, points P, Q, R and S 73. i & &g P, Q R &R S % gq
lie on a circle. Then the values of W Reg ¥ a9 x R y & HN HE:
x and y are respectively - g - .
27k =\8 ©
(1) 40° and 100° E (1) 40° &M 100°
1o -\’\6 =\§©°
35° and 110° 2) 35° X 110°
\/(2)_ & La =110 ()
(3) 50° and 80° (3) 50° 3fIX 80°
(4) 30° and 120° (4) 30° 3T 120°
74. Difference between systolic and 74, RERee 7 TR W OGEE &
diastolic blood pressure is known I I el AT & -
as —
) 2&
ke
(1) blood pressure — (1) & 99
\/("){ cardiac output (2) & STye
(3) pulse pressure ' (3) I adlq
(4) heart beat . (4) Ba&g W

NTSE(Level-1)(P-II) Exam. Nov. — 2018 P.T.O.




75. About what percentage of living

species are in danger of extinction ?
(1) 20%

(25 10%
(3) 30%

(4 1%

76. Entry of water into roothairs is an

example of -
(1) Diffusion
(2) Imbibition

L)Ba' Osmosis

(4) Plasmolysis

77. Tendons & ligaments are types of

tissue -
mgcular tissue

(2) epithelial tissue

(3) nervous tissue

e ;
¥4) fibrous tissue

NTSE(Level-1)(P-II)Exam. Nov. - 2018

(36)

75. W Rham ufdee S| wenfeEt
e 89 & &R W e 7

(1) 20%
2) 10%
(3) 30%

4) 1%

76. g # o & gaw FEo@

(1) fwge
(2) g
(3) Sifei|

(4) <R ffag

¥eq g formde e yeR & Faw
¥

71.

(1) g b
(2) FHEIN ik
(3) dfEe SHad

(4) HIZSH Hdh




78.

79.

80.

81.

The organ which spider use to

prepare web is -
(1) Spinnerates
(2) Spicules
(3) Spiracles

(4) Carapace

Variations are important as they

produce -
(1) Adaptations

(2) Elimination

\/(3,} Evolution

(4) Selection

Mode of nutrition in cuscuta 1s -
(1) Saprophytic
(2) Autotrophic

‘.(@3{ Parasitic

(4) Insectivorous

Structural and functional unit of

kidney is -
L@y Nephron  (2) Ureter
(3) Neuron (4) Urethra

NTSE(Level-1)(P-IT)Exam. Nov. - 2018

78,

79.

30.

81.

A

T8 of P N WeS STl i
PR R -

(1) W™
(2) Tierged
(3) w3iHTH
(4) FRAY

fafrant weayet ¥ i A wee
F E -

(1) ST
(2) BT AT
(3) ™

(4) =4

SR & o et e B R -
(1) st
(2) @Il
SRISIE
(4) eHlewel

T (kidney) & TEAHE g FHAHD
THR © -
(1) S

(3) ~UA

(2) X
(4) gren

P, T, 0.




A (38)

82. Lateral ventricles are found in - 82. dedd dAfvgded U S ¥-
(1) Cerebellum (D) RS A |
ﬁ)/Cerehral hemisphere (2) afew et 4 ;
(3) Diencephalon (3) ETEARGaAN H
(4) Medulla oblongata (4) ﬁw ffectiier -

83.- Cessation of menstrual cycle is 83, HIfYH =h GHIS B N Fed © -
called -
(1) Puberty 1) ‘Iﬁﬁ I
(2) Menarche : (2) T
(3) Pregnancy (3) e

Menopause “(4) AT

84, Exchange of gases in human 84. qjﬂfﬁ ¥ Ay fafrr Fr A BT ® -

oceurs in -

(1) Trachea (1) gfp

(2) Pleura (2) <

(3) Bronchi (3) siterig
\};r( Alveoli | ORGIERIKIF
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85. Which of the following disease is

only due to external causes ?

(1) Diabetes

_AZ) Arthritis

(3) Jaundice

(4) Cataract

86.
were initially developed by an
Indian scientist by cross breeding

the traditional varieties with -
(1) Mexican Varieties

(2) Europian Varieties

\1(,3{ American Varieties

(4) African Varieties

87. ILS-82 and B-77 breeds are of

following -

(1) Cow
\/(Mgwl

(3) Pig

(4) Buffalo

NTSE(Level-1)(P-II)Exam. Nov. - 2018

High yielding varieties of wheat -

(39)

A

85. ot A @ AR-d 4 B A |

86.

817.

ILS-82 uwd B-77 /4 & § fpaen

HOT A Bt B 7

(1) HYAg
(2) emegfen
(8) diferar
GV IIRRIEE

ge-gE § i @ e YEn 3|
el IoT & fasre wRdT dsniee W
WORETd yoffa @l 6 uonfa & &
g T HS -

(1) AR gt
(2) FAME yrfey
(3) STAREDT Hofiier
(4) IR YIfey

dis 8 -

(1) T
@) T
(3) X
4) ¥4




88.

2 3y S Ky
AN T BB 55 o1, o 5y
@y 10N 2 5
(2) 15N = 3
(3) 14N - S
(4) 6 N

89.

o

A dynamometer D is attached to
two masses m; = 3 kg & m,= 5 kg
Forces of f, = ON & f, = 25N are
applied to the masses as shown :

The dynamometer will read -

A packet of weight W was allowed
to fall freely in a water tank with
The

force

acceleration 'a' (<g).
magnitude of resistive

offered by water is -

(1) wf W =0

(2) wi;- W .f"*—)
{ @’

Wl - ’(S
(4) w[l +§]

NTSE(Level-1)(P-IT)Exam. Nov. — 2018

(40)

88.

89.

U SRFHMler D, a  EawEr

m,;=3kg T m,= 5 kg § T B
9 JEH AN 25 Fed B A W
RETEER & § | SEAntex @ i
y

o 1

500880080 i,

(1) 10 e
2) 15 eq
(3) 14 =gest
(4) 67

W 9R & U% Ube, UHI & % o
EAAAES @0 o' (<g) A Frm
™ gEl BN @ T g |
3y

(1)

@)

(3)

@



90. The displacement time graph of a 90. UHh TfAHM a%j @l [qeiT-HHg AT
body in motion is given as below - R o yefdlg § -
\E
- J-
oD
‘ t s oo WJD t
Time (8) S T9Y (s)
‘ 30% (D l 30°
Displacement (m) —#» T:"HW'T (1n);_’
Velocity of body is (in m/s) - ] B AT (m/s ) B -
(1) 8 . He (1) 3 @ U3
‘ 1
3 3 S 1
®) 3 i 3 V3 @ =
91. V28 graph of moving body in 91. g wX @ H el axg =l VS

straight line is as shown in figure.
Which one among the following is

not true 2
V2
S
(1) Motion 18 uniformly
accelerated.

(2) Corresponding s-t graph will
be parabola.

Initial velocity of particle 1is
Zero.

(4) Velocity is time varying.

NTSE(Level-1)(P-II)Exam. Nov. — 2018

(41)

(am2-fereeo) o Forr o sl B
T A P91 FA GF T8 & °

S
(1) Ty F ©F GHE @ B

(2) €T s-t AH Th TR 2|
(3) IR F ARIF 4T A B |
(4) 1, G & Grg aRERi B

2.1, 0,




92.

94.

(1) L/e.

5 P

6 [

Nz

The velocity of sound wave in a
given medium is V when its
frequency is v. The velocity, when

frequency changes to 5v is -

o 5V

(3) 26V

(2) V/5
4) V

2
A small block of material having
relative density 1/3 is immersed in
liquid & released. The block starts
with  an

moving  upwards

acceleration 'a'. The value of 'a' is

(g is acceleration due to gravity) -
(2) 2g

(4) 4g

A wooden plank of length 'L' rests
an a frictionless floor. A boy of
mass 'M' now runs over the plank
starting from its one end. If rﬁass
is M/5, the
the boy

relative to the ground will be -

of wooden plank

distance covered by

(2) 5L/6

(3) L/5 (4) 4L/5

NTSE(Level-1)(P-II)Exam. Nov. — 2018

Aepe XG
T@?J@ﬁ

{42)

N0

sz.ﬁﬂﬂquﬁéaﬁaﬁa%wv

* 225 (@) 25V
YeT

93.

94.

e emafy v & 9 SRt Bv B,
@ i =l el -

(1) 5V (2) VI5

@) ¥

T B e @ e W@ w
e O 1/3 ® H & H GARRT
BT 7| e 'a' @R 8 HU Al

A Gdar & 'a' @ WA erm
(g @ @ 8) -

Mg (2) 2¢g

(3) 3g (4) 4g

'L IS B U dhel @l o, Rl
g7 TRT HIE W WM B U 4w
R Zem M ®, 39 a& & UE
RIY Q =eT U A ¢ | afe dens!
P ded H A M/6 @, O yel @
e Terh &1 9 gl &Rl -

(1) L/6 (2) 5L/6

3) L/5 (4) 4L/5




95. A rod of length ' and mass 'm'

fixed at one end, is hanging
vertically. The other end is now
raised so that the rod makes an
angle 30° with horizontal line. The

work done in this process will be -
VA
Elcl
(1) mgl

V(za/mgvz

96.

(3) mgl/3

(4) mgl/4

Graph shown V-1 Characteristics
of two resistance their series
combination & parallel

Identify  the

resistances values & graphs -

combination.

X4
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95.

96.

A

Uh B fOTEH Z@MM 'm' U4 s
1, R Uk R @ IR ded @
T g g R @ 3o IemE T
fp 7e AT & 30° & N &R @
= wiskar ® fear wm wE e -

(1) mgl

(2) mgl/2

(3) mgl/3

(4) mgl/4

w Rm & A sfred, o Af 4
TARR GAE H VI % &

fEmr T B ukRE & AF Ud A%
P gEEH B -

P. T, 0,




Resistance-1 Resistance-2 Series

1 x Xg Xg
(2) x, X, X,
UB)/ Xy X4 *
4) x4 X X5

Parallel

97. Two plane mirrors P & Q are kept

at ? with respect to each other.

Light falls on P is reflected and

then fall on Q and is reflected. The

emergent ray 1s opposite to

incident ray direction. 'Z%le ? is

equal to -
(1) 4I5°
(2) 30°
(3" 60°

(4) 90° |

NTSE(Level-1)(P-II)Exam. Nov. — 2018

gRridtg-1 gRdg-2 S ey

gater gt
(1 x, Xy Xy Xy
(2) x X3 Xy X,
3)  xy Xp X, Xy
4) x4 X, X Xy

97. 2 G T P AU Q Th G A |
PO W W@ E TR B T
W U ¥ FEd WEkd a9 Q
ggell 8 of g wafder kit 1
Waﬂﬁamﬂwﬁmﬁaﬁaﬁ
g1 ? & W e -

(1) 45°
(2) 30°
(3) 60°

(4) 90° "



98.

99.

The magnetic field intensity (B) at

distance 'r' from a long straight

conductor carrying a steady
current varies with 'r' as shown

in figure -

g

The graph in figure shown how the
inverse of magniﬁcation' (1/m)
produced by é thin convex lens
varies with object distance 'u' the

power of lens will be -

1/m

B
— u—

A% lea

(4) c/b

— a ——

(1) ble

(3) be/a
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(45)

98.

99.

A

uh G aREEl Gws d v g W
T 5 @l e (B) gl v @
g e e A SgEr g -

NV

(1 (2)
B B
(3) “4)

fopr # sl W% H ©h uew SOd
g & R emEd & obd (U/m) &,
aeg g ' H wy afEds fwmr
gl

1/m

(1) ble

(3) bc/a
P T Q.




A (46)

100. In the circuit shown all the 100. e A wefdla oRug # @i BIRE

measuring instruments are ideal. UV aireel § | oTieT A, @ BICUIC
The reading in ammeter A, will be I -
10 Q% - 10 Q
WA (5 J VWAA/ A, i
5v Sv
1Q 196 10 o 10Q

LD 1/4A (1) 1/4A

(2) 1A 2) 1A
(3) <1/4A (3) <1/4A
(4) Zero (4) AH y
@
=k
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B Y o EWF

Eogefl & guy, ee wEw § Puffa @l ot we/Ha

i age ﬂ“f J gvkenr wrar wer 2 e 99
fvran war ¢

O @ O
iy g fearr v g rery A o, uiE oae ey
@ e g @ F

¥ ® ©®© @&
AfE gop O ey @Al B o 2§ o et $wr Tan
AT A | _
v e afer gRer A ogw e & e & 0 wmed
SITE 0 E Wl ]

L G PR OMR BTN UEE W OB Sifd wdl s

.

10.

11

12

9wl Sifet B wae que ¥ R S
(oba o) @ wilt FRg 8

yAE wed @& e By o our RAwad ¥ 9 sy

frsse & forg OMR wor s gy Bad UH gu
W gl e A e @ whe thod W
g qm e affea @ 7> g 9y Fmen adl W

waRn Bl

sl gffan w R sy wer wam @) e 1 o
W owYq W PSRy Nemm ow owmd | orereft arge;
ARG W wwe ¥ Reifa s @ afdfer awey v
ford | '

udtem yikiast Ud SOR usE @l mr—‘ngc'hfiuaﬁ'rr oy, i
fesady f yRRaf 4 (@aw when yRawr vd wxr usw &
wile W Brerar o Rafa o arswy) guvdt wher yReer
e wyorer 6 Fvars wrpit

uden gl /SR T A e ae i @) anel] wE)

e @ wiord o A faped |

13.

i4.

15.
16.

17.

18

araell ot uen e ww ¥ wdwm wd & Ry Rl
ye @t uremRieTl, 9fke o swifulRee g @ ufid,
U, r%rqaw BiF, 5c-w;t|v1cb FUaRYT U7 sl o u“rm
@l Y & W SR WY oY ergefer Wl &

YHET GRS W R e s YT AT rﬁT\&a.
Rier o) fewnt )
a aefles a wdew A Ay el B ié A

aadl auAr Wi < @S

AN/ wvaalig wRews ot T afdky &

oy grera O wdar qRewT s SR umm w1 @
ST | WY |

odie weere @ O, apddt e/ glE R @ yd e
T we-udders @ ey win ¥ et e wer gu
udent gikerst @t & wr wed ¥

9 ¥ weE-ay B DA A & e Al way @
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Answers {0 guestions in answer sheel are o be given
by darkening complete civcle using Black /Blue ball point

pen as shown below :
® @

O @

The answer will be reated wrong, il it is marked, as

given below : .
v ® ® &

If you fill more than one circle it will be treated as a
WTONg answer.

- Rough work should be done only in the space provided

in the Test Booklet for the same.

The answers are 1o be recorded on the OMR Answer
Sheet only, Mark your responses carefully. No whitener
{white Huid) is aHowed for changing answers.

Qut of the four alternatives for each question, only one
circle for the mest appropriate answer is to be darkened
complately with Blue/Black Ball Poinl Pen on the OMR
Answer Sheel. The answar once narked is not allowed to
be changoed,

. The candidates should ensure that the Answer Sheet is

nat folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No, anywhere clse excepi
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no cireumslances (except for discrepancy in Test
Booklet and Answer Sheot Serial NoJ), another sel of Test
Booklet will nat be provided. '

The candidates will wrile the correct Number as given in
the Test Booklet/ Angwer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or writien, biis of pa-lper:-;, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Lach candidale must show on demand his/her Admil
Card (Roll No.} to the Invigilator.

No candidate, withbul special permission  of  the

_ Superintendent or Invigitalor, should leave s/ her seaf.
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Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
delached under an y cireumslances.

On completion of the test, the candidale must hand over
the Answer Sheet 1o the Invigilalor in the Room/Hall.
The candidates are allowed lo take away this Test
Bookiat with them

Since the time atlolled (0 the Uuee parts of this question-
paper is very limited, you should make the best use of it
by not spending too much thne on any question,
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